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1.

Consider the following system of linear equations:

px+qz =2

px+py+4z=—-4

py t2z=—q
Write down the augmented matrix of this equation and then evaluate the value(s) of p and
q for which the system has (i) no solution, (ii) infinitely many solutions or (iii) unique
solution. Compute the determinant of A to determine when does the system have a unique
solution, no solution or many solutions.
Find the solutions of the system when it is consistent. In each case, write down the

number of superfluous equations and the degrees of freedom.

Frefafaa & s fFe w GEr it

px +qz =2

px +py + 4z = —4

py +2z=—q
= g w1 "afEga (augmented) 8fc ifgw @arm paq ¥ 3 79 F1@ Fiow
o g =w e w1 (i) #1879 T g, (i) s F#F oew €, s (iih) wfEde g 204
F AT (determinant) T TET FRT AT AW AoC F A RufaE @ s FEw
AT SAfEATT T EE, AE T L GO AT KL FT
e 9g %™ ®@ (consistent) FF AT IHE BA @ aiwwl yw fRafa #, wfafww
Tt (superfluous equations) a7 T@Ta=a ®itedl (degrees of freedom) Fr #&=AT T

oo



2. Consider the vectors U = [(1)] U= [ ],VT/’ = [azl_ 4]. Find the value(s) of a for

1
a+2
which the set S = {u, U, w} is (i) linearly independent and (ii) linearly dependent. Explain
why set S is not a basis of R3. Find the span of S. Find a non-trivial linear combination of

the vectors U, U, w that is equal to the zero vector if it exists for a. Find the values of a

for which no solution exists.

afeiti = [, 5= | L W= .0 ] whem A oF & o Aif o
2q T9gT S = {4, 5, w} (i) W =@ (linearly independent) & 7 (ii) dfera: o=
(linearly dependent) g1 #w=ATzw % #9gga S, R3 &7 sweme (basis) #1 @gf g1 S &l
=aTe (span) sTTa T afzeld o, 9, W #1 UF TAT aq== (non-trivial) & &S
(linear combination) stTa F™¥T i B o= \fker ¥ aw@Ew §, 7R o T T Afad

gl a¥ T AW AW fifvw &F gg &R g #1 aftaa 991 Bl

. For f(x,y) = glnx + éln y find the domain of f(x,y).Draw the level curve for
f(x,y) = 0. Find %forx = et and y = e3¢, Find a tangent plane to g(x,y) = x? — y?

at point P = (3, -2, 5). Let h(x,y) = e* ~¥". Find the tangent plane to h(x,y) at (1, -1,
1). Find a straight line that best fits the points (1,2), (3,4), (5,3) and (6,6).
Suppose function U(x) is quasiconcave and the function v is increasing. If another

function H defined by H(x) = v(U(x)) show that H is also quasiconcave.
fx,y) =§1nx+ élny 24 f(x,y) &1 9| (domain) 5@ AR f(x,y) =0 T T
F& (level curve) amMfEd FIoTl x =elay = e 3 2q g Fr A Fow g(x,y) =

x? —y? =& fasg P=(3,-2,5) ¥ wusff #a@aer (tangent plane) sira Fifsrm o s &
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h(x,y) = eX*Y° h(x,y) # (1, -1, 1) 7= =osff gmaer sma A Bt (1,2), (3.4),
(5,3) (6,6) F FaR THR & fhe F At @ Aqq Hiel

AW i F wew U(x) 3@ 99dd (quasi-concave) 8 JT Fa9 v FZA (increasing)
2l 7R sk s v H, H(x) = v(U(x)) & afvwfug g a7 saize & H 6 g saaa
El

. Let f(x,y) = 3y — x? be defined over the set

D={(x,y)eR*: x2+9y2<1,0<x< % ,y = 0}. Draw set D and the level curves of
f(x,y). Is set D closed, bounded, compact and convex? Explain your answer. Does
f(x,y) have a maximum and a minimum on D? Find the optimum points of the function.
a A @ e f(x,y) = 3y — x%, qHgT

D={(y)eR?: x?+y?<1,0<x<>,y>0} w wiwafa & @gga D a1
f(x,y) % &T Tkt (level curves) # axfea RS =1 aqga D a+= (closed), ez
(bounded), 3™\ (compact) TAT ITAA (convex) g2 AT AT &l FwATZUI FT f(x,y) FT
D ¥ UH 3PS (maximum) ¥ MY (minimum) 82 30 we % zoaw fa=ge

(optimum points) F FTT FHIrT

. Consider the problem of minimise f(x,y) = x> —2x + 1 + y%2 — 2y

subjectto g(x,¥) = (x + y)J/x +y +p =2\/q
where p and q are positive constants and x and y are positive. Find the optimal values of

x and y by writing down the first order condition of optimization. Write the envelope



results for this problem. If x*and y* denote the optimal values of x andy, find

ax* dy* ox* oy*
,L, an Y .
dp " Op 0q aq

fO,y)=x*—2x+1+y*—2y
F gy =@+ Jx+y+p=2Jq ¥ wafim =maw F= fi wen w FEw
FT St p T q aaTcw® B & 97 x Ty oaTcHF Bl TEAHIEOT AT TAT FH 0 ol
#t fEd gu xay F zmaw @@ (optimal values) STa HIST =0 F8EAT T AEXT

i (envelope results) forfam afs x*ay*, xandy F TZq9 90 ® =<F Fd 8.

. Consider a Solow growth model for an economy Q = F(K,L) = VKL. Assume that the
saving rate (s) is 50 percent, depreciation rate (§) is 5 percent and growth of labour force
(n) is 5 percent. Find an expression for output per worker 'q’ as a function of capital per
worker 'k’. i.e., ¢ = f(k). If the change in capital is given by K = I — §K. Investment is
equal to sQ. Find an expression for k. Draw the phase diagram for the differential

equation obtained. Find the steady state level of capital and output per worker. Comment

on the stability of the equation.
uF U aferaeT 3 A % giy "iew W e fitw fed Q = F(K, L) = VKL #
AW A & s=a @ (s) 50 sfaad 8, oa-g™ &% (6) 5 wiaera § qar =9 ofh @
IE =T (n) 5 afdem &1 9 =1k seam ‘¢ gq WA AWE IS kT F R, afq,
q=f(k) ¥ =7 & =5 == i 7 ot & aiads K =1 — 6K g fan smar

g sef Al =sQ, a1 k gq FASE® AT HISUl a8 Faswea adwor  (differential



equation) gq WTaEaT @ (phase diagram) a@Tzwl id #@fds ot 7 S & B

FAEAT AT L AT o0 FHHT F w10 (stability) ow feoqoft fifsm)
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1. Consider the system of equations:

ax+y+z=1

x+ay+z=1

x+y+taz=1
Write the system in matrix form. Find the values(s) of a for which the system has a
unique solution, more than one solution and no solution. What is the degree(s) of freedom
if there is more than one solution and what does that imply? In which case(s) the column

vectors of the augmented matrix are linearly dependent? What happens to the nature of

1
solutions (for different values of a) if the constant vector (1) is replaced by another
1
0
constant vector | 0 |?
0

Feffar gl e = FEr it
ax+y+z=1
x+ay+z=1
x+y+az=1

= FEm & e w7 A ”fEw o F 7 99 9 i &9 gq =@ [Ee
F UF AGHT TA AT, TH T AR gA T 9T HIe A Al 2Rl TR

UF H ATIF gA @I al Taraeq &iedi (degrees of freedom) T HE&AT FAT BRI o

o

THRT T aread g B Rofast § "afga Afesd  (augmented matrix)

A

1
TE  Ofeer Twd: 9ZaeT  (linearly dependent) gir?afa fRux Flﬁ?f(l)?ﬁ Th
1



0
mﬁwaﬁw(o)@rwﬁwﬁam%mﬁgﬁaﬁwﬁﬂw
0

TATE T=9T (a & B 70 5q)?

1 2 0
2. Consider the following vectors: a = ( 1 ),b = (0) and ¢ = (—2). Calculate the
-1 2 1

cosine of the angles made between the pairs of vectors a and b, b and ¢,and c and a.
Also check whether these angles are acute, obtuse or right angle. Can the given
vectors span the three dimensional vector space? Now considering a, b, ¢ to be just
three points in the three dimensional space: construct the equations of straight lines
which passes through b and moves towards a, and the one which passes through ¢
and moves towards a. Then construct an equation of a plane which passes through
these three points a, b and c. At which points does this plane intersect with the axes?

1 2 0
ot aftat w ffEr St a=<1>,b=<0>andc=(—2>~ wfeer-7eat
-1 2 1

aab,bac,aaTcaa & A AT Fon FT FreATHA(cosines) T T FIfT)
Tg T = Hier & #1 T F SES g, Afed & g AT qEE gl
77 fRu o wfger Bt a@feer-gwfs 1 =T (span) 960 82 99, a,b,c
1 B e & A @9 g @9 gu ST @ F e S| i S obw
T BT a, F G ST 2 AT S cF R 2voa T A o 21 THE 4
UH d9qd H7 FHHLOT FATq Hiog ST 2 o foegell a,bac & I[o<ar gl
Ig gHad weAt &1 e foege 9w afo==fia (intersect) FEaT 2




3. Consider the function:f(x,y) = ’it—i Find and sketch the domain of the function.

Draw the level curve of this function at level k = 2. Is this function homothetic?
Verify Euler’s theorem if possible. Find the equation of the tangent plane at the
point(x,, ¥o) = (1,0). From the same point find the direction in which the value of
the function increases most rapidly. What is the maximal rate of increase? What is the
approximate change in the value of the function if it moves from the given point

towards the point (3,4) by one unit?

X

waTf (x,y) = % W fFEw fim = weq F W (domain) T STT HINT T

afea AT =9 wem ¥ ' k=2 9T &TT aF (level curve) F AT
FIOMT FAT I8 AT grAETATEH  (homothetic) 2?2 a7 @wr 21 1 dFaw % w07
1 wenfia fvm fasg (xg,vo) = (1,0) WX Taeff FHTS (tangent plane) T
T F71q Aol THT faeg ® gy fRem @@ i SeE ozE wed &
AT HATfg® asit § Jgar gl afg @ gqireges ¢ #47 g? I« [y 1w fag

T fag G4) 1 R & UF AR AAT W FAT & AWM H AiEwe

(approximate) IRAGT FAT FIIT?

1 1
4. Consider the function: f(x,y) = x3yz; (x,y > 0). Find the equation of the tangent
at a specific point on the level curve f(x,y)= 1.Find the marginal rate of

substitution between y and x. Find the elasticity of substitution betweeny and x.

5



What is its geometric interpretation? Mathematically check whether the given
function is concave / convex. Is the concavity / convexity strict? Geometrically check
whether the function is quasi-concave / quasi-convex. Calculate the approximate

value of £(1.03,1.01).

o f(ny) = x5y (xy >0) W B AR oA o f(ry)= 1 F TE
fafore famg o=@ =19 YT @1 FHE A AU yaxF qer sfaerow f
#uT= =¢ (marginal rate of substitution) sT@ FT yTx F T TAEATIA HY
AT (elasticity of substitution) SITA FIRT THHT SATHNT =ATEAT FAT 22 72

%A daad (concave) g AT SO (convex), TH ATA i IAOGT qF | Sl Hlfor

FT Tg AGqar/ IqadT T&d  (strict) 87 TG qX 9% A= fiow & oF=7 7g

AT qAG-FaqA (quasi-concave) g a7 AZ-3TA(quasi-convex)!

f£(1.03,1.01)FmEfe®e A 1T FHIoT)

5. Examine the following function for maxima, minima or saddle points:
flx,y) = x>+ y3— 6x% — 3y? + 9x + 10.

Now find the global extreme points of the following function:

g(x,y) = 3x + 2y — (x + y)? on the closed and bounded setS where

S:{(X,Y):OSXSZ,OSysgijx_Fz}'

fafafea w7 3FST (maxima), [TET (minima) 71 FET f@eget  (saddle
points) g S FHIfer:

flx,y) = x3+ y3 — 6x% — 3y% + 9x + 10.



a9 Fefofad waa % afas w7 fawgat (global extreme points) F ATT FHITorT:
g(x,y) =3x + 2y — (x + y)?,a= (closed) & 9Rag (bounded) 7vggs S 4=, &l

S={(x,y):0<x<20<y<3y<x+2}

6. A consumer has a utility function U(x,y) = x + 3\/;. If the prices of good xand y
are P andP, respectively and income of the consumer is equal to m, derive the
demand functions of the consumer using the Lagrangean technique. Check the second
order conditions. Explain the solution geometrically by drawing appropriate level
curves for U(x, y) together with the graph of constraint function. Find the impact of a
change in m on equilibrium values of x, y and optimal utility.

TF SUERET F ST wed Ux,y) = x +3,/y 21 AR aEgEixa oy i fed
FAA: P, AP, § AT SUARE AT AT m 7, O Aitoraa @ty i wgrmar § 3w
T ANT Faq FAaw Hiogl gt w7 #F eaar it Siw wivw U(x,y) 81 S9IE
T FHI W ATdaed FAT F AT AET FA gU ITAH g Kl SATHANT & T off

THATETl m W UREdd % TRUTHEEST X,y ¥ Aeqerd  Fae ' 9T TEdad

ITAET 9 B ATl TqTEl R AT TG FiRm
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Semester o\

Name of the Paper . Intermediate Macroeconomics — |1

Unique Paper Code : 227402

Duration: 2 Hours Maximum Marks: 75

Attempt any four questions. All questions carry equal marks.

1. If the aim of the policymakers is to maximize the well-being of individuals in the
society, then which particular steady state policymakers would try to achieve? Show
this with a help of a diagram that describes a framework of Solow model. Consider an
economy in which population growth slows down from one percent to zero percent
per annum. Assume that the efficiency of labour in this economy grows at a constant
rate g. What will be the impact of this on the growth of output per capita? Consider its
effects on both the steady state (by drawing the time paths of the variable) and the
transition between steady states.

2. Discuss the two period consumption optimization model as given by Irving Fisher.
Using the Fisher’s intertemporal budget constraint, explain and show the effect of an
increase in real interest rate on consumer’s consumption choices, if the consumer is
initially a borrower? Can this person become a lender after the rise in interest rate?
Ilustrate.

3. What are two asymmetric information problems that hinder the operation of the
financial system? Why are asymmetric information problems particularly more
challenging for the developing countries? How can the severity of asymmetric
information problems lead to a bank panic?

4. What is a macroeconomic externality? Illustrate in the context to a non-market
clearing business cycle model. How do long-tern agreements and multiple buyer
supplier relations impose a macroeconomic externality on the economy?

5. Explain the production function for ideas in the Romer model. Show and explain how
the steady state growth rate of economy in this model is dependent on the duplication
and knowledge spill-overs attached with the generation of ideas. What compels
imperfect competition in an economy involved with the generation of ideas? Compare
and contrast how the factors of production are compensated under a production
function with perfect competition and constant returns to scale vis-a-vis another one
characterized by increasing returns.



6. Explain the neoclassical theory of business fixed investment and discuss how this
theory of investment contains aspects of dynamic behaviour? Consider a firm
characterized by following investment function (with usual notations). The net
investment function is given as:

I =M Kt - K't_1), where K™ is the desired stock of capital
K*t =4 Yet
Y¢%=05Y: 1+05VY% 1

Gross It = Net It + Dy, and D; = 0.10 K% - 1, Where Dy is the
depreciation in period t.

Both actual and expected sales (Y and Y* respectively) are 0 in period 0. If actual
sales rises to 12 in period 1 and stays there, find the value of net and gross investment
in period 1, 2 and 3; given the value of A is 0.5.
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S.No. of Question Paper:

Unique Paper Code 12271403

Name of the Paper . Introductory Econometrics
Name of the Course : CBCS Core, BA(H)
Semester .Y

Duration: 2 hours Maximum Marks: 75

(Write Your Roll No. on the top immediately on receipt of this question paper.)
Note: Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

Answer any four questions out of six.
B8 H ¥ fhedl IR 9ol & 3 &
All questions carry equal marks.

T 9ol 9T HAWT 3 &

Use of simple non-programmable calculator is allowed. Statistical tables are attached for
your reference. Numbers may be rounded off to two decimal places for all calculations.

T IR-SAIAT Hefheled H IYANT HA HI IFATT 81 3MTh Fedd & fov @iieghy
oIV TerdeT ¢ | Tt I0TATHT & T aF grrTed TAE W TEAT3T &l el fohar S
HhaT Bl

QL. i) A hypothesis u=75 is tested against the alternative u<75 using a random sample of size
25 drawn from a normally distributed population with 6=9 using 1% level of significance.
Calculate the probabilities of type II error for p= 68, 69, 70.8, 72, 74 and use them to
diagrammatically express the power function of the test.

i) How does the probability of type Il error depend upon the level of significance used?
Explain.

iii) What is o for the test procedure that rejects the null when Z < -2.88?

iv) If a level .01 test is used with the sample size now equal to 100, what is the probability of
a Type I error when p = 76. (18.75)

1. i) T IR = 75 ST dohiede | <75 & dGH TIGTOT fohaT ST & S 1% ¥d< o Aged
I YT HIAT S, S WA & H TR STAEEAT / 25 & 3HTHR & ATE Teoeh S1Ha T 3TN



GUNJAN YADAV
, BA(H)


HTE 3R TS@hT 6 =98 | 1=68, 69, 70.8, 72, 74 o TIT €157 || & T FHTGATHT T IT0TAT
Y 3R 3¢ TaT0T & ATFd FARIE A IR el & T Iuger Y|

ii) TR 11 & T FHTIAT FohE FehT 3TN FhT SATeT dTel Heed o Tl 9T fol e el 82
HASATSU|

iii) TLETOT TTshaT o oIt o T § ST 2 ! WINST il § S Z < -2.88?

iv) I EAX 0.01 TNETOT T ITANIT AT TR o TTY fohAT ST & ST 37 100 & SIS &, Y
W =76 % AT 13T | e Fhr GH1GAT FATE | (18.75)

Q2. The following regression was estimated using quarterly data for 10 years
NC, = —7.453 — 0.0714P, + 0.00315Y, — 0.1537i,
Se=(13.58) (0.0347)  (0.0017) (0.04919)

R2=0.758 ESS=235104 RSS=14.1867 d=2.04

Where NC = new car sales per 1000 population
P = new car price index
Y = per capita real disposable income in Rs.
i = interest rate

1) Interpret the above regression and comment on the expected and estimated signs of the
coefficients. Also comment on the individual significance of the coefficients.
ii) Construct an ANOVA table and comment on the joint significance of the regression.

iii) Suppose you wish to test the restriction 83 = f4 for the above regression. Explain the
two methods that you can use to carry out this test.

iv) Do you suspect autocorrelation in the model? If yes, how would you test for it?
(18.75)

2. 10 asf & v SATRAS SeT T 3T Feh AFATATYT FHTHT T A ST AT
oqT:

NC, = —7.453 — 0.0714P, + 0.00315Y; — 0.1537i,
Se=(13.58) (0.0347) (0.0017)  (0.04919)

R2=0.758 ESS=235104 RSS=14.1867 d=2.04

ST8T NC = 1S &R I fashT Uiy 1000 STarEEar
o = 7S SR Hod YAhh
v = gfa cafaa aredfas feeaaae 3T 9 A|
i = AT &
i) ST FfdearaeT dr carear RS 3R quiw & 3T AR gAAT Fohdl R
feoqolt RFSA| ot & AfFderd Hgea W o feoqolr RS




ii) TSAraT drferepr & FATOT RIS 3R wfdersteT & dgod Hged W feoqolr Hife|

iii) AT NFAT & 319 3o 9fedwT & v gfqeer B3 = B4 &1 GNETUT HLell TR 2
38 9{aToT &l e & fov 39 5 2 Afdat &1 3uaher & §&d § 306 T A

iv) @7 39T ATST A 3iTer HgEaY (Autocorrelation) gleY &7 Teg g2 Il &I, ar 3T
zg% Tl Ha gdeTor HEr? (18.75)

Q3. Consider the following regression results:
sleep = 3840.83 — 0.163totwork — 11.71educ — 8.70age + 0.128age? + 87.75D
Se=(235.11)  (0.018) (5.86)  (11.21) (0.134) (34.33)
N =706 R?=0.123  R?=0.117

where sleep is total minutes per week spent sleeping, totwork = total weekly minutes spent
working, educ is education measured in years and age is age of the individual in years. D is
gender dummy and D =1 if male, 0 otherwise.

I. Is there any evidence that men sleep more than women? How strong is the evidence?

ii. Interpreting the coefficients of the age and age squared variables explain what does
the researcher have in mind about the relation between sleep and age.

iii.  Is there a statistically significant trade-off between working and sleeping? How
would the regression model have to be modified if there is reason to believe that this

trade off might be gender specific?

iv. Do you suspect multicollinearity in the model? Explain your answer.
(18.75)

3. Trfaf@d gfderds aRomal « fgar
sleep = 3840.83 — 0.163totwork — 11.71educ — 8.70age + 0.128age? + 87.75D

Se=(235.11)  (0.018) (5.86)  (11.21)  (0.134) (34.33)
N =706 R?2=0.123  R2=0.117

TeT sleep= 9l HCATE el Alel T THY fATet #, totwork = el FTCcTReh [HeTe H1H I HT AT
fAsTel & educ asf & ugrs F1AT 3 age avf FafFafr3a g g D oarsag3ikD=1
IfE 98w, 0 31|

i) ST 1S He & Toh GO ATGATIT T Tofell & 3778 N 2 T TeheTer Hofegel 872




ii) 3 3N 33 37 & F[0TIeh hY AT d REEIIE g iRITFITFTTTFINH
QNEThdT & HeT H FATE |

iii) ST H1HA Y 3T FIA & T Teh FITETHIT HecaqoT A ARRY AT §? YiATrHeT Alser
F FO G forar sreem afe I AT T R § 5 I8 gasiiaseRy 98@-aa foer v ar
HhcTg?

iv) T 39T ATS HIgEIET (Multicollinearity) 8 T Heg &? 3791 STaTe AASIY| (18.75)

Q4 In each of the following cases suggest a suitable functional form to explain the relationship
between dependent variable and the explanatory variable. Also justify your choice and
interpret the coefficients in each case.

i. Cobb Douglas production function

ii. Rate of growth of population in an economy

iii. Total cost function of a firm

iv. Engel Expenditure Function.

v. Phillips Curve

vi. Average salary earned by the employee conditional upon the gender of the employee
(18.75)

4, AFATAET H T IAF AFAS 7 AT W IR Tedeqmasd W & g el ol
FAST & U UF 39gFd FrilcAd &9 F goa At @ & 3ol 9w B FE
BRI U Gcdsh ATHe & IUNH H carear Hf|

i) P SIS 3cUTGeT Holed

i) Teh HITaEAT H STAHEAT Sl el $T e

iii) TR B N Fol AR Beled

iv)  Tdlel O Wl |

V) fsferca as

vi) FHANT & ool W FATRT [T @RI AHfoid AT aaar (18.75)

Q5. Let the population regression function be:

Yi = B1+ Byx; + 1

Where vy and x are deviations from their respective mean values.

i.  What will be the estimated value of B;? Why?



ii.  Derive the estimate of B2 and show that it is identical to the one obtained from a
regression of Y on X. Explain why it is so.

iii.  How would you test the hypothesis that the error term in a two variable simple
regression model is normally distributed?

iv.  Derive an expression for the 95% confidence intervals for the mean prediction for the
two variable simple linear regression model. (18.75)

5. AT Nfor FAEEAT YfaerdT sy §:
Yi = B1+ Byx; + 1

STt yi 31N x; 319 e Are AT ¥ frareret ¥

i, B1 I 3THTIAT Hed T I &rl?

i Bz%ﬂﬂmﬂﬁwﬁﬁ'&ﬁmﬁﬁ?uﬁXWY?Wmﬁww§'531oy1|o135
AT g | TIs¢ < foh TaT AT B |

ii. 39 5 IReTAT T TAETOT Ha HET o &Y TR e FfeeTeT Aisel 7 Y 2rse; 37 IR K
faaRa ferarsrarg?

iv. &l TR el YW Ufaere Arsd & folv FAdod sifasgarot & forw 95% faeary 37aRTer & forw
Teh TGl egctoet | (18.75)

Q6 Consider the following model:

Ct =1+ 2 GNP + B3 GNPr.1 + 4 (GNP ~GNP¢.1) + Ut
where GNPt = GNP at time t,
Ct = aggregate private consumption expenditure in year t,
GNPt-1 = Gross National Product at time (t — 1)
(GNPt —GNPt-1) = change in the GNP between time t and time (t — 1).

i.Assuming you have the data to estimate the preceding model, would it be possible to
estimate all the coefficients of this model? If not, what coefficients can be estimated? Do
you suspect a problem in the regression?

ii. Suppose that the GNP.; explanatory variable was absent from the model. Would your
answer to (i) be the same?

iii. What is a possible remedy to the problem detected in (i) above?

iv. Now suppose the model is given as Ct = 1 + f2 GNPt + 3 Cr.1 + Ut and the errors are
assumed to be autocorrelated. How would you test for serial correlation in the model?
Discuss the underlying assumptions of the test if any?

v. Suppose the equation given in iv) above is transformed and estimated as: Ct/GNP; = B1
(L/GNPy) + B2 + B3 (Ct-1/GNPy) + u/GNP:. What could be the possible reason for the
transformation? How would you test for such a problem? (18.75)

6. AFAIf@a Alsd W TR Hifa:



Ct= 1+ f2 GNPt + 3 GNPt.1 + 4 (GNP; —GNPt.1) + Ut
8T GNPt = GNP §HIt X

Ct=ay tH ool et fAsl 3user ey,
GNPt-1 = FHT (t-1) 9 Hehol TSI 3cUTG
(GNPt —-GNPt-1) = T t 3{R T (t - 1) F T GNP H IRATA|

i AT of T 3110k 9T el Hsel 7 AT STl & fow SeT 8, A -1 5 Hisel & gafl 0tien
ohT 7T HT oTaTT=lT HaTe G192 ATE 76T, it Tehd I[UTieh ohT 37T ATeT STITTAT STT Hehell &2 T 3TTIhT
T & THEIT T HEE 67

ii. AT NTST foh GNPt-1 SATEATCHS =X AlSeT @ 3]ITEUT & | T (i) H 3TIhT 3T AT gIIm?

iii. 3O (i) 7 TS IS HATAT T Teh FATAT 3UTT FAT &2

iv. 37 AT o foh gERT HiseT Ci= 1 + f2 GNPy + f3 Co + U & &9 H feam arar g AR Ffeat st
Tad:HE T ATAT SATAT & | 31T ATST H RIS TgHaE o folT Hay GeToT hia? I P gl ar
qRYUT I Idfeled ATEIATIT O TaT hi?

V. A NS o I iv) A 4T a0 Fofienor &t ®uia el 31 3reTATAd faam aram g: CYGNPy =
B1 (/GNPy) + B2 + B3 (Cr-1/GNPy) + u/GNP; | aRac T THITI FHIROT AT &1 TehedT &2 VAT
HATAT & [o1T 37T Hat qT&ToT hiar? (18.75)
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Instructions for Candidates

=

Write your Roll No. on the top immediately on receipt of this question paper.

2. Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

The question paper consists of six questions. Answer any four questions.

4. All questions carry equal marks.

w

1. 39 UHUS & UTd gld gt W 0R 37071 Sigshdieh ferd |

2. IR fE&Y a1 SiTsh fohedt oft A1enw A forg Tehd 8, IReg IR UHUS & SR Ueh &l A1ed
GRUSIE]

3. 39 UHUA B GoT [T 6 U &1 fohgl TR T & IR S|

4. gt st & 3ick A 2|

1) Analyze India’s growth trend in saving and investment since 1980. In this context explain
the various issues and challenges to ensure the continuation of the growth momentum.

TR H ¥ 3’¢0 ¥ F9d 3R der i ughy o fasawor 2| faers &t 71fa &t st 7@ & forg
39 g # fafa el aur gAifaat a1 aufq &)

2) “Removal of poverty and unemployment need to be the prime objectives of economic
policies to ensure economic and social equality.” Explain different policy measures taken
in India in the context of this statement.



Hifoat o1 g IgAT T FI HTGGRT 81 3T HUF & T # wR # fog ™ e ifgma
IUTAY T gui e |

3) “Higher Education has an important role in accelerating development and reducing
poverty in a country.” Suggest measures to increase the gross enrolment ratio in higher
education in India in the context of the above statement.

“Teh 21 H faprd ot caRa & 3R TR v et 7 3= e & Agayqul wifdenr gidt 81
IWRIth hYH & T H YR H Hehel ATHIR UTd Sl ST h U G |

4) Critically examine the concept of Demographic Dividend in India. Explain the relation
between demographic change and economic growth in India.

YRd § SHYRATHT ATHIRT hl TR ahl ITATd-TcHh UATUT he | YR T SHYRATHY
R 3R snfdfen faer & st Taer a1 quia |

5) What are the objectives of the Public Distribution System (PDS)? Explain the major
drawbacks which need to be addressed to strengthen PDS in India?

SAfAARUT YUTTedt o I RIT 8?2 I & hiAdi ol quid o =g WRd # STfdaRor gurett st
HSTEd ohit oh folq Gafdd ozt hl SaTehdl 81

6) “The country with better infrastructure, advanced technology and high quality of research
and development dominates the international trade on the basis of comparative cost
advantage.” Compare the growth of India and China in the context of the above
statement.

“geITcH ATd ATY oh STYR TR AL ATUR o & 7 gl 47 48 gidT ¢ fSraeh a=
AR HTYRY TG, eI dchriteh dUT Iod TRIT ATHU o faeprs <t gfadem gt
IURIh hYH & T H YR qUT =i oh {dehrd <l ger=im el
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Attempt any four questions. All questions carry equal marks.
Time: 2 hours

Maximum Marks: 75

1.  What is meant by the terms “Base” and “Superstructure”? Explain the role of these in
the context of the theory of historical materialism.
"M MR AR "SIERFAT" TTal BT T 31ef 2?2 Ve Hifddbare & NEia &
AW g YT W By |

2. What is meant by “primitive accumulation”? What were the sources of primitive
accumulation and their role during the rise of capitalism in Western Europe?
"AEH Herg” | FT WU 8?7 uRRe IR H goliare & I & SR Ifad HAed
& AT AR IADI DT FaT A?

3. Explain the term “economic crisis”. Examine any one theory that explains the potential
for an economic crisis in a capitalist economy.

"JAMTH Hdhe” o] bl ARAT DIy | fhel +ff v Rigia @ S & S goiiaral
Srfergeerr # 3nfdies HWhe &I &THAT P IRAT BT ¢ |

4. What is meant by the “perennial gale of creative destruction”? Explain how
Schumpeter uses this theory to defend the restrictive practices that large monopolistic
firms take part in.

RIATAS AT & IREARAT 37" BT R AdeAd 27 qarsy & fFd dvg 9 gdies
TSI UBIIBRATET BH gIRT UfTSETHD UAI3N T ga1d B & fo1v 39 Rigid &1
SUIRT B & |

5. Why does Michal Kalecki argue that captains of industry distrust the state? What is the
likely outcome of this regarding state intervention in the matter of employment?

9T Poted! BT I8 T T 8 b ST & B A5 BT JfA%ATT HRd 27
IR & A | WY & gy & R § g9d GIad aRumd @ar 87

6.  What are the similarities and dissimilarities between the world economy today and the
one analysed by Lenin? How does this alter Lenin’s theory of Imperialism?

3ot B faeq srfagazern iR ofFF gRT faveiyor @ 78 fasq sreferaver # ar
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Unique Paper Code: 12275401

Name of the Paper: Indian Economy 11

Name of the Course: B.A.(Hons)/ B.Sc. (Hons)/B.Com.(Hons)- Economics-CBCS-
GE

Semester: v

Duration: 2 hours Maximum Marks:75

Note: Answers may be written either in English or Hindi, but the same medium should be used
throughout the paper.

Ate: I S A1 T 7 ford ST wehd €, o I YR H Tk &1 WIS foRAT ST =mey)
All Questions carry equal marks. 18.75 marks each.

Attempt any 4 questions.

auft T W HHE 36 Bl 18.75 3k Tl

foreft off 4 st =T T R

Q.1 Examine the fiscal performance of India and highlight the role of tax reforms and inclusive
growth in improving the fiscal balance. (18.75)

WA o TSEhINT SRR o1 oeqor sl ST TTehIo i Eqer i Guid # o gami ST qumasit foshra i sfie o T il

Q.2 Critically examine India’s trade balance situation. How can new Foreign Trade Policy
contribute to the better functioning of external sector? Is putting a restriction on the imports a
feasible way to improve trade balance of India? (18.75)

TR 3 AT Fqe efd T TR & 8 SHre il 75 foresT AR ifd STedt & & sieat HehS § 6 FNEH < §ohdl 87
FIT AR o SATIR T 1 Seat S o g ST T fdeier TTHT U SATaeTieh diieh &7

Q.3 Discuss the role of structural reforms with reference to agricultural growth in India.
Elaborate the agricultural development goals and policy reforms that are required to attain these
goals. (18.75)

RA § Y faemd o woxd § wremTene Gumi it i | == S 37 Aed] B I H 6 [ ey Hiy fome e
3 Hiferra geml i foreqa

Q.4 “Agricultural price policy attempts to maintain a balance between interests of consumers
and producers”. Elaborate. Discuss the challenges faced by the agricultural price policy of India
and suggest some policy interventions to overcome these challenges. (18.75)



"oy e ifd STIETST STR IeTeeh! % fedl o sffer Hqer ST Ta 1 AT 8| R @ ST WA S i qe
i o wre ST et gt o e S s AT g w % fou e Sfifard et w1 gwme <

Q.5 India's modest industrial performance can be traced to the restrictive industrial policies. In
this context explain the long run trends and reasons behind such a growth pattern witnessed by
industrial sector in India. Discuss certain policy measures that need to be pursued for increasing
the share of the manufacturing sector in GDP. (18.75)

I it Fafha senfies fifaat & sfsrerees sienfies Sife= 1 gar armar S o 1 38 del § ara § henfie & g
W T 3H L % ek Yo & i oo TH o w3 37T o i et il st § fafimtor g i fewtert s & fa
o Hfiferra st o ==t H (18.75)

Q.6 Service sector outperformed the other sectors post liberalization in India. Discuss.
Highlight the issues pertaining to the sustenance of services-led growth. (18.75)

YT & o WA § AT o A8 3 &R b 11 BIg fadml == il Jarstl o Aqe ot gfg & fafe & deifta 78 «
SRTRT STTeAy)
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Name of the Paper . Intermediate Macroeconomics — |1

Unique Paper Code : 12271402

Duration: 2 Hours Maximum Marks: 75

Attempt any four questions. All questions carry equal marks.

1.

In the Romer model, assuming A = 1 and ® = 0, what happens to the growth rate and
the technology change overtime (by showing the time paths) in response to a one time
increase in the productivity of research? (A and ® are the usual notations) If this
economy is characterized by a labour augmenting production function of the form,
Y = K* (AL)! % where A is the technology variable, show and explain the impact of
the above change on the per capita income, by first deriving this economy’s per capita
income level at the steady state?

Show and explain the cross-sectional characteristics of the consumption function by
clearly explaining the three assumptions that Friedman considered in his Permanent
income hypothesis. Using the adaptive expectations approach to get an estimate of
permanent income, show how the shift parameter explains the difference between
permanent income and lifecycle income hypothesis.

“The total return on a bond is the sum of the market rate of interest at the time of
purchase and the capital gains.” Extend the statementto derive the individual’s
demand for money curve under the no risk model for demand for money. How does
this model change when the risk consideration is included, explicitly into the
determination of demand for money? Explain.

In the New Keynesian models of business cycles, show and explain how rational
profit maximizing decisions by business firms can have adverse consequences for the
society. In this context, explain the importance of sticky marginal and menu costs for
the occurrence of recessions. Discuss a few reasons to explain nominal and real wage
and price rigidities in the above model.

Based on the example of the conduct of monetary policy, bring out the restraints on
policy makers. Assuming that the monetary policy is credible enough, discuss the rule
that Central Bank should follow to achieve the inflation target. Mention two
instruments of the Central Bank for the conducting of monetary policy.



6. Consumption is equal to output minus investment. In the Solow model with no
technological progress, what is the savings rate that maximizes steady state
consumption per worker? Show this point in a diagram describing the model. If the
economy’s actual savings rate is below this savings rate, then explain the transition
process to reach the above-mentioned steady state? Will this economy continue to
experience faster economic growth forever with the increase in savings rate?
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Instructions for Candidates
Answer any four questions. All questions carry equal marks. Answer may be written in Hindi

or English but the same medium should be followed throughout the paper.

3nfiear) & fag fAder
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1. Compare the two basic types of prescriptive regulations in solving environmental
problems. In the light of the public interest theory provide the major reasons for regulations.
Examine the positive analysis approach of the effect of climate change on agricultural

economy as used by various economists of Yale University (Mendelsohn et al., 1994).
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(Mendelsohn et al., 1994) gRT Rt 372fera¥T W STdarg uRadT & 91Td & 3T 7 9w
BT T FHRTES fdeeyor efewivr Hi g Hifer

2. Assume that there are two polluters and two victims. Find the optimum level of Pigovian
fee and the amount of pollution using appropriate equations and diagrams. In the context of
pollution, there are three basic types of economic incentives: fees, marketable permits, and

liability. Analyse how efficiency is achieved in each of these cases.

A o o Q1 Jgud 3R Q7 difsad 8 3uges wHiev 3iR 3T &1 3uahT #vd gY fomfaaa
Qeeh BT FLAT I 3R YWUT &Y AHT FATd Hiford Yauor & Hf &, diF gen{d JeR B
3MTfI AIcTed §: Yep, fauvrH g wffe 3R Saan faeewor HIfS fo e & wds &
Z&faT fod UHR U Pl SATedt 8

3. Both emission taxes and emission subsidies are used as incentives to control pollution.
Compare the short run effects of the two incentives on pollution abatement in a competitive
industry consisting of heterogeneous firms — some are old and some are new equipped with

advanced technology. Use appropriate equations and diagrams.

J&NUT Bl R B & fef§ WicHTe & $U § 3cHoid 31 3R 3o Afedst aFl &I 3TNt
faar <rar 8 faww waf (G | qu § 31k §8 7d19 399d daie 4 o 8) a1 T
gfaerf 3ahm A gewor FAHw0r R Al TR & HdTedl & Aedrdfd q9mdl B gaT
B 3feia TN 3R RG] BT 3TN HifoR)

4. Analyze the various factors that are degrading land in India as discussed in the 'State of
Environment Report — India 2009'. The second fundamental theorem of welfare economics
states that ‘in a competitive economy any Pareto optimum can be achieved by market forces,
provided the resources of the economy are appropriately distributed before the market is

allowed to operate.” Prove the theorem using appropriate equations and diagrams.

"ggfavoT RO - ¥Ra 2009 # &Y 718 Tt & AR ¥R & YfF & derae & fafi=1 SR
BT fa2RToT HIfSR FeaTorpRY e w1 g Aifdis Tia Fear 2 ufawl srefagazen
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5. Distinguish between hedonic and household production approaches. Show how the
Hedonic price theory may be used to explain the variation in the price of a house with change
in the level of pollution. Discuss the nature of the slope of Hedonic price function. Define
contingent valuation and briefly describe the various problems associated with a contingent

valuation study

T 31 TRef IcTe RPN B die ik Hf et 6 yewr & &R ¥ uRada &
T HBHI Pl HAd A 81 a1l IRad Bl T & iy 281 g Rigia o1 3udin 3
fdar <11 Awar 3 B HoT Bed & SAF Bl Uhfd W Tl biferdl AT (contingent)
A i P affa HIfS 3R ta aRifiies qeaied snaad & 8t fafi= awwmsit &t
dau ¥ guiq HfSA

6. Explain transfer coefficient. Establish the conditions for efficient amount of emission from
sources at different locations. In this context, show how inefficiency will arise in applying a

uniform emission fee on different firms with different marginal savings functions.

TAFIRT T P FHTEY fafi= Tl W Al § 3o B g%ead AET & fdg 2nd
T1fta diferd 39 W& A fearet fos fafi=T Waia aora weml arel fafi=r Bt ) e 99F
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1. Discuss how the probability that a child might grow up to not look after his parents
leads to high population growth rates. How does gender bias aggravate this problem?
Explain the impact of the joint family structure on population growth rates in
developing economies.

3 d2g WX g9 A [ [FE YR Tsh sTdr S 379a AE-TAdr $r @
oT6l &l 6 3Td STAHEdT deid &l H Wiiehal &I Ferdr §? folrde sq
AT &1 o GehR sorelm g2 fashrasiier rdcqaeaist & S=raear geffr &3
W HIFd TRARX EIAT & THE I TS AL |

2. How is an urban informal sector created during the process of development? Can it be
reduced by a policy of physically restricting migration or subsidies to employers in the
formal sector?

e T gfrar & e v Ul IETaRe 89 F8 3cdesT JATdT §2 1
e &7 # Faeant & v yaga ar afeasr & gfadf®a s &
AT T 30 FIr S Fohar &2




. Explain the reasons why sharecropping enjoys enduring popularity in the real world
despite being inefficient in a Marshallian sense. 15

ARfTore 31T # 3PS g & SIas[e WIS & ddide giaar # Tur
ARTITAT EIAST el b PRUN Pl TAST FY|

. Do you agree with the view that land reform offers the most desirable policy solution
in the presence of widespread undernutrition and asset inequality?

FAT 3T 38 foeHoT § TeAd & & ff GuR sads FANOT qur FUfT
AT T 3YRATY F T aoeig AT FATUT e FRar 82

. Why is environmental regulation required? Discuss various forms of the prevalent
environmental regulation policies.

TATOT [FIHT I 3maTeahar T giaYy &2 yafaad waaer [Rfeaas Sifaar
& RAffeT FaF W == |

. Debates on globalisation often involve a clash of counterfactuals. Discuss the impact
of globalisation on the poor in developing countries in the light of this statement.

JAIHOT W Tdl H FFR R 929 d@dfedd & &1 39 T &
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1. Write your Roll No. on the top immediately on receipt of this question paper.

Answers may be written either in English or Hindi; but the same medium should be used
throughout the paper.

The question paper consists of six questions. Attempt any four questions.

All questions carry equal marks.

Use of simple non-programmable calculator is allowed.

Statistical tables are attached for your reference.
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Q1. A researcher estimates a two-variable linear regression model InY; = 1+ 2 InX; + u;, (where
Y= consumption of cups of coffee per day and X=retail price of coffee) for 44 individuals for the
year 2018-19 and obtains the following results:
InY, = 0.7774 — 0.2530 InX;
(p) = (0.0152)  (0.0494) R? =0.7448
I. Interpret the slope coefficient. Test whether price has a significant impact on coffee
consumption at 5% level of significance.
ii. In order to check for model misspecification, the following auxiliary regression is estimated:
InYi = o1 + oz InX; + a3 l?l\yiz + oy l;l\Y'i3+ Vi
The R? obtained from this regression is equal to 0.8568. Perform Ramsey’s RESET test for
model misspecification. Is there any evidence for the model being mis-specified? Use 1%
level of significance. List one advantage and one drawback of Ramsey’s RESET test.
iii. Describe any three consequences if a relevant variable is omitted from the model.

Teh MUl 44 <ATPAT o a9 2018-19 ¥ T fg-TR TWI FAHIOT Alsd InY; = f1+ Bz InX; +
Uj, @1 TRl &l & (STel Y=l & ul &1 Uil SUHier qur X= ity i Ger HiAd &) d
30 AeAfafEd aRoma e ad &

InY, = 0.7774 — 0.2530 InX;,
(») = (0.0152)  (0.0494) RZ = 0.7448
i. el I[UTieh T cATEdT HfAT| HAT HT BT B 3UAET W a@dF (significant) gHm@ Far &,

$H a1 @l 5% AIehdl FAX W uaTor Hifaw|

ii. Alser 3rafafadea (model misspecification) &g ST &l &g Aeafai@d Hed FATHIOT
(auxiliary regression) 3mesfor fomar aram:

InYi = o1 + oo InX; + a3 l;L\YiZ + ay l;l\Yi3+ Vi

S TATHIOT A uTd R 7 AT 0.8568 ¥| Hiser 3rafafaéera & W &1 RESET udiafor HifSw|
FAT ASST P ARSI B BT PSS TA0T §2 1% F1dhdr TR &1 3uAer Hifow| T8d &
RESET udla7o1 &1 Ueh Gl g Teh HASN fof@T|

iii. Ifg v graf@E (relevant) @X @ Alser F afder o fFar ST dr sao fhedl 3 oot @
aofa HifSw|

Q2. Consider the following distributed lag (DL) model:
Yo = a+ BoX¢ + B1Xp-1+B2Xe2 + -+ ug

i. Describe the Koyck transformation to show how the DL model can be transformed to an
estimable model. Also discuss the features of Koyck transformation.

ii. Using annual data on per capita personal consumption expenditure (Y, in rupees) and per
capita personal disposable income (X, in rupees) for a country for the period 1990-2018,
the Koyck estimation results are given below:

Y, = 405.174 + 0.4004 X, + 0.500 Y,_,
t=(0.04152) (4.3979)  (4.1293)

R?=0.992



Write the short-run and long-run multiplier. Write the estimated long run consumption
function. What is the estimated mean lag in the model? Write the formula for median lag
in the model.

fAeafaf@a faaka faeeaa aAtger distributed lag (DL) model) X TR Hifare:
Ye = a+ BoXi + Br1Xe—1+B2 X2 + -+ Uy

i. Biteh F=cRoT (Koyck transformation) & aofel #ed gU I a2iisT foh DL #Hisel @ foha
YR Uh 3Thelid (estimable) Aisel F FUedRd fRaT ST THhaT &1 HITH FUeROT AT
a3t a1 i frdaa HifaT

iil. TP & B 1990-2018 & AT & ufd =ik eafehard suser <@ (Y, 2udi &) gar ufd

gk TOThITd UAed A (X, Ul #) W arf¥es sl & Terddl T UTH Hiudh 3ol
gRue A9 UhR &

405.174 + 0.4004 X, + 0.500 Y,_,

7,
t = (0.04152) (4.3979)  (4.1293)

R%=0.992
Feurafd (short-run) @ rafafr st (multipliers) @ fof@w| gefafa suser wea @
of@w| 3@ Alsa & 3mwfod 7YY [Aewaa (mean lag) &1 €2 50 Az A ATCIHI
faerFasr (median lag) &g ¥ ferf@T]

Q3. A researcher estimates the following demand function of electricity for 4 countries for the
time period 1998-2018:

Yie = Bri + B2 Xair + BaXazie + uie
Where Y = electricity consumption per capita, X, = real disposable income per capita in rupees,
X5 = real price of electricity in rupees, i =country code and t = time.
The following table presents the results of pooled OLS, fixed effect and random effects models
(figures in parentheses indicate t-ratios).

Variable OoLS FEM REM
Constant 2.4192 2.7617 2.7542
(24.37) (52.23) (39.22)
X2 0.067 0.183 0.181
(2.13) (9.67) (9.69)
X3 -0.035 -0.020 -0.019
(-1.12) (-9.17) (-9.10)
R? 0.262 0.352 0.355

i.  Outline the estimation procedure for fixed effect model with least-squares dummy
variable method (FELSDV). Perform a suitable test to choose between Pooled
OLS and Fixed Effects model (assuming one-way fixed effects). Use 5% level of
significance.

ii.  Discuss the REM method of estimation. State clearly the assumptions made by
this approach. What is the mean value of all the (cross-sectional) intercepts? If
Hausman test produces a chi-square statistic as 3.4, which model would you



choose — Fixed Effects model or Random effects model? Use 5% level of
significance.

T AMUBAT 4 G2 &g Promafd 1998-2018 &g fagd v Aeafaf@d AT B 3Mepferd wear &

Yit = B1i + B2Xzit + B3Xsir + Uiz

Stel Y = gfa i faga suser, X, =ufa i waisa 3 sudi &, X; = RAiga & areafas
HAT TYIT A, | =¢U PIS ATt = A

fArafaf@a @folt 7 @afesa OLS (pooled OLS), R usma (fixed effect) a aeftes gama
(random effect) FAfsell & uRona fgu arw & (PIgept A fGu 71w 3HTehs t-3rgural & g §).

Variable OLS FEM REM
Constant 2.4192 2.7617 2.7542
(24.37) (52.23) (39.22)
X2 0.067 0.183 0.181
(2.13) (9.67) (9.69)
X3 -0.035 -0.020 -0.019
(-1.12) (-9.17) (-9.10)
R* 0.262 0.352 0.355

~gAdH-aI FqH-IR Afed W gama Y (fixed effect model with least-squares
dummy variable method, FELSDV) &q 3erelet fafdr 1 wuvar &ifaw| @aferd OLS
T =R yHg Asd (one-way fixed effects) &P AT IIT Bl %@ T 3Ugh TreTor
AT 5% ATIHAT TR BT ST HIfAT|

3ol & REM faf &1 fadaar fifse| z@ sunrer & off 3% et aegansit o
TuEd: forf@u| @eft (31guey, cross-sectional) 3f=d:@UsT &I AL AT FT &2 IS
e TeTor & y2ufaest @ AT 3.4 UTH BT &, AT 3T HiAdr Al ool — R
T Aisel IT o YHTT Alse? 5% TATIRAT TAX & 3TAIT AT

Q4. Consider the simple regression model: Y; = a« + fX; + u;. Suppose X and u are correlated.
Let Z be an instrumental variable (1V) for X.

Discuss the conditions that must be satisfied for Z to be an IV for X. Derive the
instrumental variable (V) estimator of 3.

From a sample of 50 observations, the covariance and variance computed are as
follows:

Cov(X,Y)=900, Var(X)=400, Cov(Z,X)=880, Cov(Z,Y)=440

Obtain the OLS as well as IV estimates of . Can R? obtained from the IV
estimation be interpreted in the same way as R? computed from the OLS method?
Justify your answer.

T FATHIOT Alse. ¥, = a + BX; + w; W faR HifFv| 71 5w 6 X g u aeasafeud & aa
oNfore &6 Z, X &g wes Iif3h =R (instrumental variable, IV) &1



i. Z & X & U i3 =W (V) B o 3MaTeh <Adi &1 e MfSw f & FifAd @)
(V) 31Teheleh & ehaTeh egcles] hifaIT]|

ii. 50 J&T0Tr & Ueh Ufdedl &g He-UEROT (covariance) @ UHEROT (variance) & faefafad
AT IT8 B
Cov(X,Y)=900, Var(X)= 400, Cov(Z,X)=880, Cov(Z,Y)=440
B & OLS @ |V 3Teholel 1l hToTT| T |V 3eholed & Uid R 61 e 38 R
6 ST TR & 5T gpR OLS Aumd R* &1, Y 1l &2 310 e & ab QS|

Q5. Consider the two-variable regression model: Y; = f; + B,X,; + u;. Let Y and X, take values

given by the vectors: Y = (40,30,10) and X, = (5,10,20).

i.  Using matrix algebra, find the estimated B and var-cov(B).

ii. Compute 95% confidence interval for the slope coefficient. Based on the
confidence interval so computed, would you conclude that B, is statistically
significant? Explain.

iii. Write the matrix formulation of the ANOVA table for a two variable linear
regression model.

fg-oR g Atsd: Y, = B + foXp + u; W AR fAifsw| aa ifsw &6 ¥ g X, afgelit & a=
3afei@d |igl & 3gaR & Y = (40,30,10) g X, = (5,10,20).
i, Aoy Rerford H gerrar @ 3mefad B g var-cov(B) rd AifaT|
ii. oTel 9T & 95% faAmEdan 3t=are (confidence interval) &Y auTar HIfST| 38 ghR
UTd fIATRETdT ekl & YR U T 319 Jg faswy Aepredr fh B, aifegda dt w
s §? HASST
iii. Th G-a) FATIIOT Asd &g ANOVA ikl & dfgera gaor o

Q6. The foreign direct investment (FDI) inflows of a country (in rupees crores) are regressed on
GDP of the country (in rupees crores) for a cross section data on 100 countries for the year 2018-
2019 using the method of OLS: FDP; = 8, + B,GDP; + u;

i Suppose the researcher decides to conduct the Breusch-Pagan test to check for
heteroscedasticty. For this, the OLS residuals obtained from the above regression are
squared and regressed on the explanatory variable to estimate the following auxiliary
regression:

ﬁlz = 61 + 6ZGDPL + V;
Given that the estimated value of R? for this auxiliary regression is 0.2653, conduct
the Breusch-Pagan test. Use 1% level of significance. State null and alternate
hypotheses clearly. Do you find evidence of heteroscedasticity?

ii. Discuss any three remedial measures to deal with the issue of heteroscedasticity.



fordr gor & ucger facelt f@awr (FDI) 3eavarsl (@R Tudt ) & 38 21 & GDP (13 Tudi #)
WX 100 32 & g 2018-19 & IFFUEY Hihsl H Fergar @ OLS ify & gamafda frar siar @

FISC & TIRUT-TAVAAT & ATATT gdaTor (White’s General test of heteroscedasticity) # fafed
TROT T fadad T

. MuwdT favere@iear fr s Fa F forw seg-tra gdieor & &1 haer Har &1 gERoT-

fawarar (heteroscedasticity) & TRI&TUT AR &, 3§ FAHICT ¥ Urd OLS 3afuet &1 aaither
forar Sar § U1 39 goihell Pl cOTEITRRY (explanatory) TR W @ATHRAT fRaT ST ¥

2% = 6; + 6,GDP; + v;
I% f&ar gam ¥ 6 56 Wergd @HEUT v R® @1 3fod A 0.2653 ¥, gr-dere adieror
(Breusch-Pagan test) ST | 1% H1<ehdr TR &1 3T HIfAT| e T dehfeus aReeuaiit o
Tued: ff&T| &ar 3Taeh! g7 fauHdT &1 YHATOT fRerdr 2
TER0T AT d gaear & fauea & fhedl Il 3uaricaAs 3ural (remedial measures) @r
fadga fifa




fable D.2 Percentage Points of the / Distribution

mﬂ'lP"
lt> 2.086) = 0.025

(t> 1.725)=005  fordf=20
Pr(lﬂ > 1.725) = 0.10

R

0.25 0.10 0.05 0.025 0.01 0.005 0.001
0.50 0.20 0.10 0.05 0.02 0.010 0.002

1000 | 3.078 | 6314 | 12706 |31.821 | 63.657 | 318.31

0816 | 1.886 | 2920 | 4303 | 6965 | 9925 | 22327
0765 | 1.638 | 2353 | 3182 | 4541 | 5841 | 10214
0741 | 1533 | 2132 | 2776 | 3747 | 4604 | 7173

0727 | 1476 | 2015 | 2571 | 3365 | 4032 | 5893
0.718 i 1.440 | 1.943 2.447 3.143 3.707 5.208
0711 | 1.415 | 1.895 | 2365 | 2998 | 3499 | 4.785
0706 | 1397 | 1.860 | 2306 | 289 | 3355 | 4.501
0703 | 1383 | 1833 | 2262 | 2821 | 3250 | 4.297

0 | 0700 | 1372 1812 | 2228 | 2764 | 3769 | 4144
1 | 0697 | 1363 | 179 | 2201 | 2718 | 3.106 4.025
12 | 0695 | 1356 | 1.782 | 2179 | 2681 | 3055 | 3.930
13| 069 1350 | 1771 | 2160 | 2650 | 3012 | 3.852

l
14 | 0692 1.345 | 1.761 2.145 2.624 2977 3.787
15 l 0.691 1.341 1.753 2131 2.602 2.947 3.733
¢
|

o

W ..ww\74\

16 0.690 | 1.337 l 1.746 2.120 2.583 2.921 3.686
17 0.689 1.333 1.740 2.110 2.567 | 2.898 | 3.646
18 0.688 1.330 l 1.734 2.101 2552 | 2878 3.610
19 0.688 | 1.328  1.729 2.093 2.539 2.861 3.579

20 @ 0687 | 1325 1.725 | 2.086 2.528 2.845 3.552
21 ; 0.686 | 1.323 1.721 2.080 | 2518 2.831 3.527
|

2 | oess | 1321 | 1717 | 2074 | 2508 | 2819 3.505
23 | 068s | 1319 | 1714 | 2069 | 2500 | 2.807 3.485
2 | 0685 | 1318 | 1711 | 2064 | 2492 | 2797 3.467

25 0.684 | 1316 1.708 2.060 2.485 2.787 3.450

26 0.684 & 1.315 1.706 I 2.056 i 2.479 2.779 3.435
27 0.684 | 1314 1.703 2.052 2473 2771 | 3421
i
f

28 0683 | 1.313 1701 2.048 2.467 2.763 3.408
29 0683 | 1311  1.699 2.045 2.462 2.756 3.396

! |
30 0683 | 1310  1.697 | 2042 2.457° | 2750 3.385
40 0.681 | 1.303 1.684 i 2021 | 2423 | 2.704 3.307
60 0679 & 1296 & 1671 | 2000 | 2390 | 2660 | 3.232
120 | 0.677* 1.289 | 1.658 | 1.980 | 2358 | 2617 | 3.160
x 0.674 ! 1282 | 1.645 | 1.960 : 2.326 | 2576 | 3.090

badofachoohmnis!hemmoocuﬂ;lhehrgﬂpmbabilityisdwmin

Nate; The smaller probability shown at the
both tails.

Sowrse: From E. S. Pearson 2nd H. O. Hartley. eds. Biomerrika Tables for Statisticians, vol. 1, 3d ed.. table 12, Cambridge
Usiversity Press. New York. 1966, Reproduced by permission of the editors and trustees of Biometrika.



Table D.3  Upper Percentage Points of the F Distribation (Confimued)

df for'
denom- ;
inator., df for numerator M
Ny Pr 1 2 3¢ 4 5 6 7 8 9 10 mn 12
25 140 148 147 145 144 142 141 140 139 139 138 13
22 |10 295 256 235 222 213 206 201 197 193 190 188 186
05 430 344 305 282 266 255 246 240 234 230 226 223
01 795 572 482 431 399 376 359 345 335 326 318 312
25 139 147 146 144 143 141 140 139 138 138 137 136
24 |10 293 254 233 219 210 204 198 194 191 188 1.8 1.8
.gf 426 340 301 278 262 251 242 236 230 225 z‘z); g.w
. 782 561 472 422 39 367 350 336 326 317 3 3.03
25 138 146 145 144 142 141 139 138 137 137 136 135
26 |10 291 252 231 217 208 201 1% 192 188 18 184 18
05 423 337 298 274 259 247 239 232 227 222 218 215
01 772 553 464 414 382 359 342 329 318 309 302 296
25 138 146 145 143 141 140 139 138 137 136 135 134
28 |10 289 250 229 216 206 200 194 190 18 184 181 179
05 420 334 295 271 256 245 236 229 224 219 215 212
01 764 545 457 407 375 353 336 323 312 303 296 290
25 138 145 144 142 141 139 138 137 136 135 135 134
0 |10 28 249 228 214 205 198 193 188 185 182 179 177
05 417 332 292 269 253 242 233 227 221 216 213 209
01 756 539 451 402 370 347 330 317 307 298 291 284
25 136 144 142 140 139 137 136 135 134 133 132 131
w0 |10 284 244 223 209 200 195 18 18 179 176 173 17
05 408 323 284 261 245 234 225 218 212 208 204 200
01, 731 538 431 383 351 329 312 299 289 280 273 266
25 135 142 141 138 137 135 133 132 131 130 129 1.29
J0 279 239 218 204 195 187 182 177 174 171 1.68 1.66
60 |'os 400 315 276 253 237 225 217 210 204 1 195 192
01 708 498 413 365 334 312 295 282 272 263 256 250
25 134 140 139 137 135 133 131 130 129 128 127 126
30 275 235 213 199 190 182 177 172 168 165 1.62 160
120 |05 392 307 268 245 229 217 209 202 196 191 1.87 183
‘01 685 479 395 348 317 296 279 266 256 247 240 234
25 133 139 138 136 134 132 131 129 128 127 126 125
J0 273 233 211 197 188 180 175 170 166 163 160 157
200 05 389 3.04 265 242 226 214 206 198 193 1388 1.84 1.80
‘01 676 471 388 341 311 289 273 260 250 241 234 227
25 132 139 137 135 133 131 129 128 127 125 124 124
0 271 230 208 194 18 177 172 V67 163 160 157 1.5
o [‘os. 384 300 260 237 221 210 201 194 188 183 179 175
01 663 461 378 332 302 280 264 251 241 232 225 218




Pr{x2 > 10.85) = 0.95

Pr(x?>23.83)=0.25 fordf=20

Pr(x? > 31.41) =005 '

- Table D4  Upper Percentage Points of the y* Distribution

25% arca

95% area

X
0. 1085 23.83  31.41
Degrees\Pr’ o

of freedom 995 990 975 950 800

1 392704 x 10~1° 157088 x 10~ 982069 x 10~ 393214 x 10~*  .0157908

2 .0100251 0201007 .0506356 .102587 210720

3 0717212 114832 215795 351846 .584375

4 .206990' 297110 484419 710721 1.063623

5 411740 554300 831211 1.145476 1.61031

6 675727 872085 1.237347 1.63539 2.20413

7 989265 1.239043 1.68987 2.16735 2.83311

8 1.344419 1.646482 2.17973 2.73264 3.48954

9 1.734926 2.087912 2.70039 3.32511 4.16816
0 2.15585 2.55821 3.24697 3.94030 4.86518
11 | 260321 3.05347 3.81575 4.57481 5.57779
12 | 3.07382 3.57056 4.40379 5.22603 6.30380
13 3.56503 4.10691 5.00874 589186 7.04150
14 4.07468 4.66043 5.62872 6.57063 7.78953
15 4.60094 5.22935 6.26214 7.26094 8.54675
16 5.14224 5.81221 6.90766 7.96164 9.31223
17 5.69724 6.40776 7.56418 8.67176 10.0852
18 6.26481 7.01491 8.23075 9.39046 10.8649
19 | 6.84398 7.63273 8.90655 10.1170 11.6509
20 | 7.43386 8.26040 9.59083 | 10.8508 12.4426
21 8.03366 8.,89720 10.28293 11.5913 13.2396
22 8.64272 . 9.54249 10.9823 12.3380 14.0415
23 | 9.26042 10.19567 - = 11.6885 13.0905 14.8479
24 | 9.88623 10.8564 12,4011 13.8484 15.6587
25 10.5197 115240 13.1197 14.6114 16.4734
26 .| 111603 12.1981 13.8439 15.3791 17.2919
27 11.8076 12,8786 145733 16.1513 18.1138
28 12.4613 13.5648 15.3079 16.9279 18,9392
29 13.1211 14.2565 16.0471 17.7083 19.7677
30 13.7867 14.9535 16.7908 18.4926 20.5992
“ 40 20.7065 22.1643 24.4331 26.5093 29.0505
50 27.9907 29.7067 32.3574 34,7642 37.6886
60 35.5346 37.4848 40.4817 43.1879 46.4589
70 43,2752 45.4418 48.7576 51.7393 55.3290
80 51.1720 53.5400 57.1532 60.3915 64.2778
90 59.1963 61.7541 65.6466 69.1260 73.2912
100° 67.3276 70.0648 74.2219 77.9295 82.3581

.ﬁ'awulwu
e degrees of freedom.

expression /20— V{ZE—T)= 2 follows the standardized normal distribution, where & represents



12 0% oinaT “': ‘“T“ﬁj
750 -500 250 100 050 025 010 .005
1015308 454937 1.32330 2.70554 3.84146 5.02389 6.63490 7.87944
575364 1.38629 2.77259 4.60517 5.99147 7.37776 9.21034 10.5966
1212534 2.36597 4.10835 6.25139 7.81473 9.34840 11.3449 12.8381
1.92255 3.35670 5.38527 7.77944 9.48773 11,1433 13.2767 14.8602
2.67460 4.35146 6.62568 9.23635 11.0705 12.8325 15.0863 16.7496
345460 5.34812 7.84080 10.6446 12.5916 14.4494 16.8119 18.5476
4.25485 6.34581 9.03715 12,0170 14.0671 16.0128 18.4753 20.2777
5.07064 7.34412 10.2188 133616 15.5073 17.5346 20.0902 21,9550
5.89883 B.34283 11.3887 14.6837 16.9190 19.0228 21.6660 23.5893
6.73720 9.34182 12.5489 15.9871 18.3070 20.4831 23.2093 25.1882
7.58412 10.3410 13.7007 17.2750 19.6751 21.9200 24.7250 26.7569
8.43842 11.3403 14.8454 18.5494 21.0261 23,3367 26.2170 28.2995
9.29906 12.3398 15.9839 19.8119 223621 24.7356 27.6883 29.8194
10.1653 13.3393 17.1170 21,0642 23.6848 26.1190 29.1413 31.3193
11.0365 14.3389 18.2451 223072 24,9958 27.4884 30.5779 32.8013
11,9122 15.3385 19.3688 235418 26.2962 28.8454 31.9999 34.2672
12.7919 16.3381 20.4887 24.7690 27.5871 30,1910 33.4087 35.7185
13.6753 17.3379 21.6049 25.9894 28.8693 31.5264 34.8053 37.1564
14.5620 18.3376 22.7178 27.2036 30.1435 32.8523 36.1908 .38.5822
15.4518 19.3374 23.8277 28.4120 31.4104 34.1696 37.5662 39.9968
16.3444 20.3372 24,9348 29.6151 32,6705 35.4789 38.9321 41.4010
17.2396 21.3370 26,0393 30.8133 33.9244 36.7807 40.2894 42.7956
18.1373 22.3369 27.1413 32.0069 35.1725 38,0757 41.6384 44.1813
19.0372 23.3367 28.2412 33.1963 36.4151 39.3641 42.9798 45.5585
19.9393 24.3366 29.3389 34.3816 37.6525 40.6465 44,3141 46.9278
20.8434 25.3364 30.4345 35.5631 38.8852 419232 45.6417 48.2899
21.7494 26.3363 31,5284 36.7412 40.1133 43.1944 46.9630 49.6449
22,6572 27.3363 32.6205 37.9159 41.3372 44.4607 48.2782 50.9933
23.5666 28.3362 33.7109 39,0875 42.5569 45.7222 49,5879 52.3356
24.4776 29.3360 34.7998 40.2560 43.7729 46.9792 50.8922 53.6720
33.6603 39.3354 45,6160 51.8050 55.7585 593417 63.6907 66.7659
42,9427 49.3349 56.3336 63.1671 67.5048 71.4202 76.1539 79.4900
52.2938 59.3347 66.9814 743970 79.0819 83.2976 88.3794 91.9517
:1.6983 69.3344 77.5766 85.5271 90.5312 95.0231 100.425 104.215
ohs 79.3343 881303 965782 101879 106629 112329 116.321
”-g;; 89.3342 98.6499 107.565 113.145 118.136 124.116 128,299
o ) 99.3341 109.141 118.498 124.342 129.561 135.807 140,169

f Somre: Abrigge
3 Reprog, hF—anduo.w.uh,MMﬁmﬂ.I.M-‘..ﬂllt.wun ity Press, New York
L by permission of the oditors and trusices of Biomezriks, 1966,
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Name of the Paper: Financial Economics
Name of Course: B.A. (Hons.) Economics
UPC: 227607
Semester — VI

Duration: 2 Hours Maximum Marks: 75

Instructions to Candidates:

Use of scientific calculator is allowed.

e Attempt any four questions out of six.

e All questions carry equal marks. Subparts of a question carry equal weightage.

e Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.

wenfiat ¥ Jregeer

o JATFAF Hhoheler F IUATT BRI ST Fehell B

o T H A gl IR WAl & Ik &I

o TN YAl & SRTR 37 &1 Uh U & T IUHMN FT 3iFh-HR KT 2

o JoR fE=Cr & a1 36 & U S Thd § Wed W IR A T g1 ATeH o 39hrer fawar
Sirer arfgul

1. (a) Define NPV and IRR. Which of these criteria is the most appropriate for investment

evaluation? Explain your answer with the help of an example.

(b) Find the duration D and the modified duration Dy of a perpetual annuity that pays an
amount A at the beginning of each year, with the first such payment being 1 year from
now. Assume constant interest rate r compounded yearly.

(c) Explain the concept of yield to maturity. Explain the features of YTM curve.

(@) NPV @ IRR @I 9RenSd HIfAT| 8 & Hietar Aiqus fHawr Hedichel g Halltes
39gFd g7 39 ek HI Teh 31607 T TERAA § FHATSVI

(b) T THr amREd TegSdr @ afr D g HAMUT af Dy AT AT S 6 gcde af
& UREH H TH AR AF I FA 8, TUT $H TR H TAH I 9 § T ay
# grm| A AT R RR s X aiffe wRafe & @ ri

(c) aRueFaar de& <fsr (yield to maturity) $r auRom & FFASTSTI YTM ash &r
TORINAT3T &I gASSU|



2. (@) The CAPM changes our concept of risk of an asset from o to that of B. Show this by
deriving the relationship between the expected rate of return of an individual asset with
its individual risk.

(b) State the two-fund theorem and discuss its implications.

(c) Consider a risky venture with a per unit share price of $875 which is expected to
increase to $1000 after a year. The standard deviation of the return of the venture is ¢ =
40%. Currently the risk-free rate is 10%. The expected rate of return on the market
portfolio is 17%, with a standard deviation of 12%. Find the expected rate of return of
this venture and the expected rate of return predicted by capital market line. Compare the
two and comment.

(@) CAPM far qRE\Fufead & ST@H & AR 37TUROT & 6 & 3HTUROT § T TR
F 9eoT T g1 30 UH FFPId IRTFAfed T IR Ifdhel eX & 3Tk SNPAH &
Y FFI Y Fchew] Hleh GATST

(b) @ e fr vAT (two-fund theorem) @ AT Jur saw RARArAt &1 [aga fifFT|

(c) & NEAYET 3uHA R faar T TEdr gfad R FAT $875 & A & av
e et $1000 8T STeT &7 Ychem &1 3 3Uha & Uidhd $T Al dded 6 = 40% &1
AT H AT@AIRT T 10% g1 IR GEHIioR W gfawe T gcaiiag e 17% aar
AE fFEereT 12% &1 36 3TRA & Tdhd H FARID & ol Yol aTefi Y@T &a@nT
WHRAT gfawe H g X Ad ST 3T Qe fr geren fifST qur fReoolr
HrfaT|

3. (a) Suppose that the stock price is $31, the exercise price is $30, the risk free interest rate
is 10% per annum, the price of a three-month European call option is $3, and the price of
a three-month put option is $2.25. What opportunities are there for the arbitrageur?

(b) Why is an American option always worth at least as much as a European option on
the same asset with the same strike price and exercise date? Discuss.

(c) Explain with the help of an illustration the arbitrage opportunities when forward price
is out of line with spot price for an asset providing known cash income.

() I fST & Tefe fraa $31 &, Aeed 3uaer Fraa $30 &, AfWaA-IRT st &)
10% wfday g, de-AE & FWIT Fio [eveq T HAd $3 &, T4 A A6 & q¢ Feweq &
drad $2.25 & TEI e AUTAhci3 & T 37ae §7?



(b) T AR [Aheq HT HAT 38 IREFIcd W FATA WgR HIAT 9 FATCT ARy arer
I fAeFed & WX A 3w & F= gl 82 fgws Hifaw)

(c) afe ¥ S 3T arell Ue aREFfed € BIRas HAd, FWic HIAT & 6T AT 8
A 3YSY IeeRIUTA HIET Y U 3ETEX0T I FETIal & FHASIST

4. (a)What are clearing margins? How are these determined? Outline the difference in the
operation of a margin account maintained with a clearing house vis-a-vis a broker.

(b) Suppose that a futures contract with 4 months to maturity is used to hedge the value
of a portfolio over the next 3 months in the following situation:

Value of S&P 500 index: 1000

S&P 500 futures price: $1,010

Value of portfolio: $5,050,000

Risk free interest rate: 4% per annum

Dividend yield on index: 1% per annum

Beta of the portfolio: 1.5

One futures contract is for the delivery of $250 times the index

I.  What position the company will take in futures contract?
ii.  Calculate the gain/loss from the futures contracts if index and futures price turn out to
900 and 902 respectively.

iii.  Calculate the expected value of the portfolio and the hedger’s position at the end of 3
months.

(c) A call option with the strike price of $60 cost $6. A put with the same strike price and
expiration date costs $4. Construct a table that shows the profits and payoffs from the straddle.

() FeraRer Aol @1 2 ¥ F9 yvR RuiRA gia §2 v FelaRar 139 g 3mefav & ary
W AT AT TTAl & ALY ek A TRAT SIS0

(b) AT ST T Peafaf@a Fufd & 4 &g &1 IRUFGar Ol Toh Fgud 3Helsetr &l
3TRIET 39Ter Il ATE & U ACHITl o HeT Pl goT el o] ol ATl &

S&P 500 FETE F AT: 1000

S&P 500 W Hia: $1,010

IR F Ao $5,050,000

INTEFIRT =TT e3: 4% gfaday

Hashieh 9 ereArer wfskr (Dividend yield): 1% wfday
IcHIfery &1 der: 1.5

U A Y gaHiE & $250 I F AROT ¥ 2



i HE rgEd efeey 7w FRufd oef?

ii. I GBI T TG eJoetl I HIAT hAer: 900 g 902 glell IS AT o T
IeJeetT H STH/ETA T 0T SIfav|

jii. T AE & 3ed F ACHIR F GRS Hed T goR @ Al & 3o Hifsw

(c) $60 YgR HIHAT dTel Teh Hlel Tdehed I HIAT $6 &1 U YR HAd T AT Afr
arel e fdsheq &1 HIAT $4 §1 Tsor § ot 7 Gldhel HT gl arell veh WOl S|

5. (a) How does the choice of contract affect basis risk? Discuss.

(b)Derive and explain the upper and lower bound of European call and put option on non-
dividend paying stocks and dividend paying stocks.

(c) Demonstratethe strategies of a covered call and a protective put with the help of
diagrams. What position in a call option is equivalent to a protective put?

(a) 3Te=T 1 TFA ThE ThR ITUR STEH H FATTd T o2 fdawer v

(b) wmeTTer fIAROT YA dlel T STeAer fAROT o el aTel TClehl g JUAT el T Y
fehedl &1 U @ fATell WA @I Fcdeet HTAT T FHSST

() 3TeBTied @iel T (&TcH® YT &I 3NGT T FGTIdT § FHASSU| o fdeveq H dlerdl
feufa tafcas qe & Jea 872

6. (a) Show with the help of an example that when a firm repurchases stock instead of paying
dividends it reduces the number of shares outstanding but produces an offsetting increase
in subsequent earnings and dividends per share

(b) ‘The M.M. Proposition claims that the financial leverage has no effect on
shareholders’ wealth’. Comment.

(c) “The dividend policy is irrelevant in a world without taxes, transaction costs, or other
markets imperfections’. Explain with the help of an example.

(8) T 3cTEI0T T TETIAT ¥ ST fF SI§ B STHIT ST T ST Tl @l arad
Gled § o a8 S WRRT A T B FA &l § Nee] Seekadm 3T T Uil TRR
rerer 7 T el afg & B



(b) ‘M.M. 9Fard g &l Al § fF /eI 3cdied &I RRYRS HI TFdfcd W HS
UHIG SFET grar 810 el i

(C) “ehl, FEAROT SAFTAlN T SIS T 31 Iquidrsft & IR farg & amener Aifd
3R 117 Th 3GTeX0T Sl @il ¥ TASSU|
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Attempt any four questions. All questions carry equal marks.

1.

Discuss the challenges faced by the Trade Unions and the labour movement in the current
phase of globalization. What are the emerging strategies for strengthening and
reconstituting the labour movement?

ITIIEROT & qAHE TR H ¢ JAIAT 3R A AQIa & AT A arell FAfadl o)
=l B | AD AT BT Aol 3R YIS B & fol¢ IARAT 8 UM a1 87

How have multinational corporations (MNCs) evolved within the structure of capitalist
production? Explain how its multidivisional and multi-country operations are conducive to
the necessity of rapid product innovations and as well as increasing the life cycle of the old
products.

oTard] T Bl FXe & WIak g i (THe) &4 fasfid gy &7 I8
AG fh HY 3AD g3 3R Tg—a3I Hared g I<UTE AAHIBRIT DI TTeI bl
@ o BId © 3R AT E YR IATGI & Silae ah Pl 981 & |

What are the different types of global value chain governance? Discuss the theoretical
framework to explain these different types of governance.

IRTH oI HAT AR b AT YR a1 €7 391 AW~ JbR & AT Bl FHSI D
fore Sgifie SmEr R =4l w |

What are the fundamental similarities and differences between neoconservatism and
neoliberalism? Discuss how neoconservatism attempts to overcome the inherent

instabilities of the neoliberal state.
TIRISATE 3R Fd9eRAIE & dId Alfold FHMN R (AR T 27 = HY fob fha
TRE AdwiSale aSaRara] I &I JAai-ied IRRARIT BT I B BT TIT Il o |

Discuss how restructuring of global production and expanding market for care services
impacts the lives of women workers and creates a new division of labour between women
in different parts of the world economy.

Al B h @ JaRll & ok § R iR dRas IAed BT gied Afge




BT B g BT DA JITad BT © IR fba avg favg sefayazen & faf= el o
afecrell & 9 9| BT Th a7 fadqre der 2

Write a note on any one of the following:

The contrary implications of the notion of “flexibility” in the context of Post-Fordist
production.

OR

How inequalities of power and wealth affect valuation of costs and benefits of
environmental degradation.

OR

The major tendencies of ‘financialisation’ and the social impact of this phenomenon.
fFrefaRad 4 @ fbdl v W e for:

URE—BISATS] STe & Had H "ofelelus” &l 8RN & fauvid ffgdref |

3T

Ffdd 3R g9 Bl JFFAAFAIG YATeRT ore § FRMEE $H ANTd AR IAD A™ &
T Bl HA FAIAT Bl 2 |
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TORTIART &1 U YgRr 3R $HS ARSI T |
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Answer any four questions. All questions carry equal marks. Answer may be written in Hindi
or English but the same medium should be followed throughout the paper.

SHARART & forq Fearie-igl T R QAT $T IqN @l G QAT T AT 37 &l Sqa (ol

T SRS # oI ST G § cifcbT G97 S B folQ T g1 ATETH T UTel b1 ST ARl

1. What are open access resources? What should be the Pareto optimal level of use of a
common property resource? Explain with the help of a diagram. Examine the positive analysis
approach of the effect of climate change on agricultural economy as used by various
economists of Yale University (Mendelsohn et al., 1994).

ATy yayr I@aa Fa1 €2 Ue aeiad aufd T8 & 3UANT B Wl STIH TR & T
g Tifeu? 3IR@ H Fedr ¥ AU Jd foudarem & [(ffea  dnisar
(Mendelsohn et al., 1994) gRT JTo@aryg URAdd & SN HIqaedqr W UHEg HA U
gifafea fagwor f¥mor & s Hifa |

2. Discuss the important point that no matter how the permits are initially allocated,
equilibrium in the market results in all firms holding permits and controlling emissions so that
marginal savings (or marginal abatement costs) are equalized among firms. If a monopolist is
the sole producer of a good in a market and also pollutes as a byproduct of goods production,
an emission fee can make matters worse. Discuss with the help of a diagram.

58 Aecayyl fig W T o 5 50 919 @ B B A& UsaT 6 YE A WA I
srafeq fou aw €, aaR A dgaa G wAf F1 58 UeR WA @A AR scaad @
fafa aar glafia wwar & 5 At & dera aad (31 HAd 3eAed daerd) /e @




AT IfE TP THIMYBRT Th iR H Th aFg hl THAH 3cUlGh & AR AT & ScUled
@ 30Ul § HEY A YSd T HT §, dl 38D FW Th Schoid Yo, Yeuor Hr feufa
P! ded¥ I hdl &1 Th IR 6 FAeg F T S|

3. A refinery and a car paint shop are located adjacent to each other. Emissions from the
refinery adversely affect the car paint shop. Determine the efficiency conditions and show
efficiency can be achieved irrespective of who is assigned the property rights. Explain using
diagrams and equations. Distinguish between the efficiency conditions in the provision of
public goods and private goods. Which characteristic of the public goods require a vertical
summation of demand curves to derive aggregate demand for public goods?

ReEall 3R R el ghlad Th-gad  Tgl ol RBEald @ & a1l 3cdold R ue
T Uedhl W gfdde UHTT STeldT &1 gefar & erdl o AuiRa fifed 3R Twrsd & 9
a1 @ fader 6 d@ufa & 3fReR fha |l arw €, carar urg & S @ @1 Imat AR
FHRION & gRI FHASSU| Heateler a3l M Aol aegsit & uraure & garar #r uaf
& dr HR DS Grdfas aeg3i & fhg faAvar & $HRoT Grdeias aeg3i o
AT AT A B forw Al Iopl o1 FCardR 9T FRA AT 3aIBAT USAT &2

4. Distinguish between ‘use’ and ‘non use’ value of environmental goods. ‘Pigovian subsidy
and Pigovian fee in spite of being diametrically opposite policy instruments, in terms of their
effects on the profits of the polluting firms, are equally efficient in addressing environmental
pollution.” Substantiate this statement with your understanding of the two policy regimes and
their effects on technologically heterogeneous firms operating in a competitive environment
in the short run.

afeddl AR WA geer NfAoTd TU@ YEuor B drell HUAAT & ATH W D
gHEie  dedd Aulld @194 @9 @ didelg UITaR0T  YGUUT HF Faifdd de A A
T & HAA 81" 3H aldl difaord gaAr AR sae gfaeadt adaRer & $RRd dawdih
¥ 8 fovd &dAf W gHa & aR # 3N FHT B Y 59 HAT H giY

5. Derive hedonic price function for the valuation of an environmental characteristic. Explain

the notion of ‘double dividend’ from a revenue neutral emission tax? Discuss the primary
factors upon which the magnitude of such ‘double dividend’ depends. Draw suitable diagrams
to bring out key arguments.

T UATRONT fAAETOTAT & Hedichd & T g3Ifdeh Ao Hod & geuta Hifad| Tered
deTY 3cgold Y & U Bl dTel ‘el JTHier Y MTYURUT Bl FASRBU? 34 AfAS
FRP R Ta1 HoT T W 30 Re & QA& AHRA & GRAT AR 1 81 A&
d® 3 @ foU 3ugd 3N gAsT]|



6. Referring to the ‘State of Environment Report -India 2009', discuss the problem of air
pollution in India. What measures have been taken in India to control air pollution?
Distinguish between ‘revealed preference approach’ and ‘stated preference approach’ in the
valuation of environmental goods and services.

T A TAARRAHAC RUE -3f2AT 2009’ ¥ Joal@ HJeT , AR H ag YGuur &
FHAEIT W T B ARG A ag yeuur & g s & fow @=ar surg fee oo g2
AT gEgHT IR Fat B Hedivd FA Ube H¥AT TRAOr AR CHRT A
PO & T JR S|
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e Answers may be written either in English or in Hindi; but the same medium should be
used throughout the paper.
et ¥ e
o AAF Hhosholex HT IUAT BRI ST Fehell B
e T: H U gl IR MaAT & 3R AU
o TN YRSl & RIS 3k &1 Uh U & T IUHDN FT 3F-HR KT 2
o Ioal fEwdr # a1 36 &/ U S & § W] W IR H Teh g1 ATEIH &7 3997 febvar

ST arfeul

[EEN

. (a) Explain the annual worth method with the help of an example. How does it differ
from the NPV analysis?

(b) Using the two methods of evaluating investment decisions: the IRR and NPV
methods, evaluate the two flows associated with harvesting trees to be sold for lumber: (i)
(-1, 2) cut early and (i)

(-1, 0, 3) cut later. Assume that the prevailing interest rate is 10%.

(c) Consider two 5-year bonds. One has a 9% coupon and selling price Rs. 110, the other
has 8% coupon and sells for Rs 95. How will you construct a 5-year zero coupon bond
from prices of the above coupon bearing bonds?

(a) @S Hea fafTr &I Th 3cEY0T dI WA ¥ FHAssUl I NPV faeewor & e
TR et g7



(b) fRder wreeth Aol &1 Aearrea awer v oY A=, IRRa NPV fafedi $r werar
¥ el T FwlEh Thsl & T Sl § TR al Jargl &1 Hedichad HIST: (i) (-1,2)
STedl @rer STy (i) (-1,0,3) sTg # @rer Sv| Al aifae foh gafad sarsr a3 10% g1

(c) @ 5-ad¥tg seEr-udl W fauR RST, v & 9% Hua § dur kg FHAd 110 & 2,
X # 8% HuaT § U fahg HAT 95 & g1 T IWIFA al HUAURT T
HIAN q Th 5-a9g eI-HUA T TF fhE TR FATCN?

. (a) In Markowitz Portfolio Optimisation Model, the efficient frontier of risky asset must
necessarily include the ‘special portfolio’ having least variance. Elaborate.

(b) Find the duration D and the modified duration Dy of a perpetual annuity that pays an
amount A at the beginning of each year, with the first such payment being 1 year from
now. Assume constant interest rate r compounded yearly.

(c) Consider a world with only two risky assets, A and B, and a risk-free asset. Stock A
has 200 shares outstanding, a price per share of Rs.300, an expected return of 16% and a
volatility aof 30%. Stock B has 300 shares outstanding, a price per share of Rs.400, an
expected return of 10% and a volatility aof 15%. The correlation coefficient pag = 0.4.
Assume CAPM holds. Calculate the expected return of the market portfolio, volatility of
the market portfolio, the beta of each stock and the risk-free rate.

(2) ATRifdCST & NERTRT geecenor Aise #, SNT@AYT yRwFalcd 1 Hae dar &
FAGH FEIOT arell faY GiEwifer’ 3raRISea: A@fFAfIT gl @iiRul 3§ wUT &
SEEIE

(b) T THr amREd TgSEr @ afr D g HAMUT af Dy AT AT S o gcde af
& URFH H T AR A S I HIA &, TAT FH TR HT TUH 3T 39 § Th a9
# ghm| A AT B aiffe el areh R sarer &3 r g

(c) ™ W frg W faar Hifow FEH Faa ar Hf@aAqr aResafcaar, AT B & aur
U Af@A-AFd aREFafca 81 e A 200 2RR §@RT g, 9 fRR Hred 300 €. 8,
TTRIT Ufater 16% & aur 3feuRar (volatility) o 30% &1 €&t B & 300 9RR &RT £,
gfd R HAT 400 & & SR gfdwa 10% g aur 3fRRar ¢ 15% g1 dgaseey
IUTE pag = 0.4 &1 AT AFT F o7 CAPM & g1l 1 SR GiEwhifor & SR
i, aToTX ArEmIferr @ 3R, s Teid & der o Sf@H-HFd el dr A0
Hrfav|



3. (a) A4 month European call option and European put option on a non-dividend paying
stock is currently priced at Rs. 4 and Rs.3.25 respectively. The stock price is Rs.41 and
the exercise price is Rs.40. The risk free interest rate is 9% per annum for all maturities.
What opportunities are there for the arbitrageur?

(b) Consider an investor who buys a call option contract of 100 shares costing Rs.3.75
with the strike price of Rs.55. Suppose that the stock price rises and the option is
exercised when the stock reaches Rs.62. A commission to be paid by investor to the
broker is given below:

Rupee amount of Trade Commission*

<Rs.2,450 Rs.25 + 3% of rupee amount
Rs.2,450 to Rs.7000 Rs.40 + 1.5% of rupee amount
>Rs.7000 Rs.100 + 0.5% of rupee amount

*Maximum and minimum commission is Rs.35 for the first contract. Also, investor pays
0.8% commission to exercise the option and further 0.8% commission to sell the stock.

(i) Calculate the total commission paid by investor to the broker.

(i) How will this impact the net profits to the investor?

(i) What will be the total commission paid if investor purchases nine contracts of 100
shares each when the option price is Rs.2.50?

(c) The spot price of gold is Rs.20 per ounce. The storage costs are Rs.0.6 per ounce per
year payable monthly. Assume that interest rates are 9% per annum for all maturities,
calculate the futures price of gold for delivery in 9 months. Also, explain the relationship
between futures price, spot price, convenience Yield and cost of carry.

(a) SITeTRr T ST o &Y ATl Ueh ¥ieh W 4 AG & U JUUT Fiel fdehed T Th
QU e fdemeq fT AT HAA: 4 T T 3.25 T g1 Flh HT HIAT 41 T § U [@epoy
39T Hed 40 & 81 SNOA-FFA sA6T &I Tl aRueracsit & 9fadad 9% &1

e UUTeTehall g &1 A 3T &7

(b) T faRr W IR ST ST 100 WRT &7 T e &heq geetr @liear ¢ Sraeh
HHAT 3.75 T. § AT 39T FIAA 55 . &1 AT NS o Tl AT HIAT ol @ ddT
ﬁWWWN%&TW%Wﬁ?@[WGZFW@m%I IGEMED
EaRT 3MMefdU &l & JTel alell 3Ted faFe TR &

SO Hr AR T A 3TeT™

<2,450 . 25%.+ % H TR &1 3%
2,450 & 7000 %. 40 %. +%. #7 TR &1 1.5%
> 7000 %. 100%. +%. & TR Fr 0.5%




* YA el g HhaH T goldd 3Med 35%. g1 Adver 0.8% 3ed fashed &r

3T & g &l & Ul 38 AR 0.8% 3HTed Fidh &l adel g &aTl &

(i) faereR @RT JMGfdT &I & ST aTell Fel 3G I I HIfST|

(i) STT RAeF F Faer TTH W FIT YT gEI?

(i) afE Faees 9fd 3egeEetr 100 RRT arer 100 efoetr WG § o fawed & Hrea
2.506.%*a‘r§$r3ﬁ‘|aﬁaxrmﬂws’nﬂ?

(c) AT Fr acATeT FrAd i 31 20 3. &1 HUSRUT aeTd gfa 3t gfday 0.6%. & S
f& A1 al 2T 81 AT NTST & @l gRuFaansit g sarer v 9% ufd a¥ g, o 9
AT # fqeRoT g AT AT TG HIAT AT HIGT| T HA, TiC AT, Fhaer
AT AT T 9T & HAET oo I JHSATST]

4. (a) “As the delivery period for a futures contract is approached, the futures price

converges to the spot price of the underlying asset.” Explain the statement.

(b) An investor wants to invest Rs.800000 in different stocks with different beta. The
portfolio of beta is given as 1.223. Assume that the investor takes a position in S&P 500
futures having a value of Rs.9,000 with 4 months to maturity to hedge the value of the
portfolio which is currently trading at Rs.9,025 with the current lot size of 25 (one futures
contract is for the delivery of Rs.25 times the index). The index turns out to be Rs.8,505
in 4 months and the futures price is Rs.8,525.

Given the above situation, explain the strategy followed by the investor.

Calculate the hedge value.

Calculate the number of contracts required to hedge the portfolio and explain its
significance.

What will be the position of the investor after 4 months?

If beta of the portfolio reduces from 1.223 to 1.1, how will the number of contracts
change?

(c) A4 months call option with a strike price of Rs.100 costs Rs 6.50. A put with same
strike price and expiration date costs Rs.7. Construct a table that shows the profits and
payoffs from straps. lllustrate with the help of a diagram.

(@) “SH-SI T FgEd ey @Y AT 3EfY Ree el 8, d9-38 wgEd drAd
Iedfeiied AREFTIc I Tle AT S IR AAGT gleh &175H HYUT I FHAATSV|

(b) Teh TAARNF 3TET-37T SIeT Tl 3eldT-37eldT Tk & 800000 . A ¥ =g 2|
tn'éq#ﬁznasré’lamﬂsﬁmgw%lmaﬂﬁv%ﬁaﬁmmﬁﬁm%zs 3. T
FAATT 3R 25 aTel GIEHIT &1 g7 #¥el g 9000 . AT T 4 AE GRUeFdar afer



arel S&P AT Iefeetl F RAfA odr & (T arder eleetr gadhie & 25 I TR &
faeROT &< 8)| HoAhieh T AT 4 ATE a1 8505 &. §icl & Ul FAH HIAd 8525 . glall
gl

i 3WFd Bufd A fAges & e # aassel

ii. g AT & AUET Hifav|

jii.  AIEwIfoR B g A g INTARTH e[dll T HEA Y AUET fAT T_T FHRT
HEcdl I GHASSUI

iv. 4 7 7 g dr Rufa a2 gef?

V. g diEmer #r der 1.223 & TR 1.1 g e €, o Jefeel i aedr R
YR qRafdd gr Sireefr?

(c) 100 &. YR HIHT aTer 4 HAE & T Hidl dehed T HIAT 6.50 T. &1 3T TR
AT T FATCA A arel Tk qe fadhed T HAT 7 T ¢ THoH & g arel oneit
gfahel @Y geiiey arell Teh ATRON §A18T| T R T Feradar & g2iisu|

5. (@) A company X will need to purchase 35,000 barrels of crude oil sometime in April. Oil
futures contracts are traded for delivery every month on NYMEX stock exchange. The
company decides to use May contracts for hedging and takes position in 35 contracts with
each contract size of 1000 barrels and futures price of Rs.70 per barrel. The company
decided to close out the position on May 10 and at that time, spot price and futures price
are Rs.72 per barrel and Rs.71.10 per barrel respectively.

Calculate the effective and total price paid in rupees per barrel.
The company decides to use a hedge ratio of 0.8. How does the decision affect the way in
which the hedge is implemented and the result?

(b) Assume that the risk free interest rate is 7.5% per annum with continuous
compounding and that dividend yield on a stock index varies throughout the year. In
January, August, September and November, dividends are paid at the rate of 6.25% per
annum. In other months, dividends are paid at the rate of 3% per annum. Suppose the
value of the index onJuly 31is 1,475. What is the futures price for a contract deliverable
in December 31 of the same year? Also, explain the arbitrage opportunities if futures
price is relatively low or high.

(c) “A box spread comprises four options. Two can be combined to create a long forward
position and two can be combined to create a short forward position”. Explain the
statement with the help of an illustration. Construct a table that shows the profits from the
box spread.



(2) TF FFIer X & 3T H fRdr AT 35,000 KT Fear da Wlgar Sl HTaRIehdr
uselt| wfaaAre RAeRoT 89 de & wgEd 3efeedl @ saraR NYMEX s tFads W
glar &1 FFel gfSier 8 #S & Ieleeul & 3UANT Fer T foAvfa weeh & o 35
Igeett 7 Rl ol § ST 9@ Jefeey & MR 1000 e § dur wgEd Hred i
& 70 % &1 FET 3ol RAfS F 10 7S @ S wa @ FAvty X § aur 39
AT Flic HIAT TUT FIIH HA HA: 72 F. d4qr 71.10 & 9fd K g

i % Ui e F geIEr g el HH N AVE HIAT
ji. FFPN 0.8 & g eI FH YA HeA HT AR FIA &1 g1 I a9 v ey &
& gur oA & I [Aviy e yer wenfag aar 22

(b) 71T ST fr SfEF-IRT sarer X FReaw whafe & aryr of a¥ 7.5% §
e Faahish W oA offees a9 gRafda gl 81 Stefadl, 3rred, fAdeer g Famrk &
AT 6.25% 9fd a¥ &r ex & RU I §1 37 AL & omerer 3% ufday fr 3 & w
ST §1 AT AT fF 31 STell$ &l Faehich &1 A 1,475 g1 38 a¥ 31 G@ey &t
fIeROT T STeT arel 3efeetr &1 Fed AT 41 §2 I Tl HIAT URThd dR |
T a1 3Tg § dl 3ecRUule G & A FHSSU|

(C) “Teh Sl YR H AN fadhed g1 a1 & FATAT Feh U eLar arenl wged Fufa
RS & ST Fehell & AT &7 &I HATAT ek Teh Heddm arell argel [&afa giora & o
bl 81”30 T T 6 GerIar ¥ gHESISU| 59 Se9-R & Ured ot & geifer arelr
T Aol Sarsv|

. (a) “The value of the firm is unaffected by its choice of capital structure.” Explain with
the help of an example.

(b) “The dividend policy is irrelevant in a world without taxes, transaction costs, or other
markets imperfections.” Explain with the help of an example.

(c) Borrowing creates financial leverage or gearing. Financial leverage does not affect the
risk or the expected return on the firm’s assets, but it does push up the risk of the
common stock. Explain.

() “Teh ®H HT AT 3R YT AT AT &1 817 Ueh 3GTe 0T -l Hgraadl &
SEEIEN

(b) ‘&, FEAALIT SR T ST T 3 Iquidrafi & IRa faea & amerer A
39 g1 U 30T ST BT ¥ JHSATST|




(c) 3T & R 3cdtera a1 TR 3cqet gl &1 ey 3cdield & &l
aREFfeadl W @A a1 geafia gfdwe #F wiid 78 #Xdr, Weg AT &WiF &
@A @ Fer S &1 FHsnsv|
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1) a) Define ‘Adjusted H’ and discuss its relevance in the Indian context.

b) Suppose a bond that matures in one year issued by a corporation has a rating B. Given
this rating, there is 80% chance that a firm will be unable to pay its obligation in full and can
only pay 10% on its face value and only 20% chance that it can meet its full obligation. If the
market rate of interest is 5%, then answer the following questions:

(1) What price the investor will be willing to pay, given the face value of $1000 and coupon
rate of 15%?

(i1) What price the investor will be willing to pay for a default free government bond that
promises to yield the same amount at the end of a year?

(111)) What is the after tax yield for B-rated bond and default free government bond if the tax
on interest income from B-rated bond is 38% and for default free bond it is 20%? (18.75)

%aa) FAST H' & aReRT & 3R ARAT Tedf & sadr grafeehar 9w odr
|

) A oot & T e garr S fre 910 v a¥ & 9Ruerqg gle arel dles &l
%ﬁwaﬁlsviﬁwaﬁa@ﬁmm%mﬂam%%ﬁwwqﬁmﬁmaﬁm
H I B A A geft 3R U 3ifRd Hed W Fad 10% T AT W
TRl & 3 Faed 20% FHTGAT § T Tg IS qUT erfded N QX AW G &1 IR
SATST &7 TR &X 5% &, dl Pie=Trail@d uRaT & 3a% &

(i) 3fheT Fed $ 1000 3R 15% & FHueT &I & 7% § dr e 5w qea &1 pEra
F F AR T2

(ii) fdeh Th AT & 3T H THHAW TR el HT dTET A dTe) fSthice Herd
THRI dles & fIT fhdell Hed T el & fIT R gram?

(iii) NIRZT sz 3R Rwiee I 7o si=2 & AT Wi Moz F=r § oy -
T §ies T TS 3T W X 38% ¢ 3R Blee I dies & T Ig 20% 82 (18.75)

2) a) Analyse the impact of asymmetric/imperfect information on banks’ loan decisions.
Further discuss their strategies to counter this problem of asymmetric information.

b) Explain why you agree or disagree with the following statement:
‘Buying a put is just like short selling the underlying asset. You gain the same thing from either
position, if the underlying asset price falls. If the price goes up, you have the same loss’’. (18.75)



2) &) dhl & KO AU W IEAAG/BUT TR F gHE 1 faewer #|
ﬁmmﬁﬁéﬁ{iﬂ{-mWH*lddl e & T 3T WEfaAr W T=r
|

g) §d0 & 39 e FUT § TgAd I1T JTgAT F4m & . .

qc @l hadl Idifed aREuf & Sua B R & g1 IR afifed aRedfy
FHag TR £, 39 &} ufa @ s & 99 a1f@d Fa §1 afe Frag s e

g, a1 3MT9ehT 3T & JhdTe Bl & " (18.75)

o

3.a) ‘Equity contracts are subject to a particular type of moral hazard called Principal-Agent
problem’. Explain this statement. How have debt contracts emerged as a feasible alternative to
equity contracts in partially solving the problem of moral hazard?

b) Briefly describe the four areas in which BASEL III is an enhancement over BASEL II. (18.75)

3. %) ‘gfaadl Y UH AW YR & Afdh TR & 3T § O Mifdge-vele
TATAT FaT Sl &1 ST FUT A OEdT Aow| Hile §7 & e @ay &
THEAT A gel A & TAT ROT ey 3{Fad qeenl & fAw weh @onfad fasheq &
T H FT IM P

@) 3 IR &9 W T&T H JoTl HY, [SaH s9al 1l S8 18 T8 g (18.75)

4. a) Explain how the expectations and segmented-markets hypothesis are extreme versions of
the preferred-habitat hypothesis. Give an example to illustrate your explanation.

b) Compare and contrast the factors which led to the two banking crisis episodes in 1997-2002
and the decade from 2008 onwards. (18.75)

4. F) 3¢ IR WiRg SR & IRy qEdg-AarE & aReeusdr & oA
TEHUT FH &1 39eT SIATEAT Hl FTISC el & [olT Th 31807 ¢

) 3 HReD HI Jolell IR A HT S HROT 1997-2002 H 3R 2008 & &G &
a3 ar AT Tahe & waoT afed gul (18.75)

5.a) Critically examine how the MCLR system is an improvement over Base rate.

b) Briefly discuss the transition of the recent Monetary Policy Framework from Monetary
Targeting and Multiple Indicator Approach to Inflation Targeting in India. (18.75)

5.3) ATerdellcAs ofid Y & MCLR fi¥ed 99 @ W 4 gur gl




)mﬁﬁ%a&ﬁwﬁwnﬁ%gﬁ&ﬁw#mﬁﬁaﬁw%
T grar & 7 Aifger AfT o= F I 9w T=t F (18.75)

6. Write short notes on any two of the following: (18.75)

i) Policy Rate Corridor
i1) Asset Securitization
ii1) Certificate of Deposits (CDs)

6. Arfafad 7 & el af T oy fecuoh fora: (18.75)

i) T &X HIRER
i) g9 BT%N%WUT
iii) AT T AT T (A
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Q.1. What is excess capacity? Compare the long run equilibrium under monopolistic
competition to long run equilibrium under perfect competition.
(18.75)

STTh & HaT FAT 82 ST o SAqud RIS TAaTrar T IO ST IRar § e
AT FL|

Q.2. Does an imposition of tariff on imports reduces the gain in total welfare from free trade?
Explain your answer.
(18.75)

FAT AT T T AT & Th ATITL 6 FHeA HedT0T il Jieg HH gl STl g2 I IAL %0l
FTEAT FL|

Q.3.  Why do firms in a oligopolistic market structure not collude to maximise their profits?

Discuss the behaviour of oligopolist firms using the game of prisoners’ dilemma.
(18.75)

ACATIEHTT ATATE HCAAT H FH ST ATH T ATAHAH H2 o (o7 T FAT Tl Fedl g2 Hiadl
&1 T & T T ITART FTd U ACTIAFET FAT 6 AT T FAT H7|

Q.4. Define and give an example of a common resource. Without government intervention,
will people use this good efficiently?
(18.75)



U HTHTT SETEH 1 TR Y TIT Uk IS0 & | LR geqeqd o (o7, F97 THIS 36
e T ITANT FAAT H HLIT?

Q.5. Adverse selection and moral hazard are both examples of information asymmetry,
explain how are they different?

(18.75)
STasd =3 AT Afa® S| T 34T [S0Tdr & a8 &, T% ®3 o o o g faer 82

Q.6. Explain how the wage can adjust to balance the supply and demand for labour while
simultaneously equalling the value of the marginal product of labour.

(18.75)

=TT &Y T =7 &t A A7 fd A "Aqira w F O oW & HEia 3 F T & aiay
TS o ST RIS o ST el T 2
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whenfat F forg Ader

1. W (o g1 Raiia SO0 9% 94T St o |
2. Tohegl A2 WoTt o ST <Aord | T IoI1 o 3 9H g |
3. TH T F I [al ST RISt #redd H foram ST 9ot @ Tiegq G AT T I UH A ATeAq

&I AR |

1. Compare and contrast monopoly and oligopoly. (18.75)

THTTEHTY T AR § [ATHATG TAT JAATHE eI Ao d|

2. Explain price and output decision of a monopolistic competitive firm in the short and long run.
(18.75)

TRTIEERTEr TTaeqelt ®F 7 euster quT S79F § FrAad J°7T ScaTe [Hor it =medr #3)

3. Explain Public and private policies towards externalities (18.75)
AT & T ArasTas qor [t ffaai f =mear w1

4. Explain the determination of wage in the labour market through a suitable diagram.  (18.75)

T T A il GgrIAT § A7 AT H TG 3T T 0T T FHiL|



5. Explain the gain and loss of an exporting country in the international trade. (18.75)
FALTET =TT | U AATa 297 F ATH TAT I 6T AT F|
6. What are the sources of market failure? (18.75)

TS ¥ Farwetar & a7 87
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SH IA 9T H 6 92T gl
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3R 3 AT TEST # for ST Hevd €, olfeheT X 90 3 Ueh 81 ATEIH T 39T
TR ST TR T |

Discuss the causes responsible for low growth of agricultural productivity in
India. Explain the various measures adopted by the government to solve this
problem.

AR H FT Seureamar Hr w7 35U F foaw AR FRoil W=t &) 50 TAear H
F FL F [T TFR gaRT 39=1C ¢ et 39t & IR # qare|

What are the institutional sources of agricultural finance in India? Have they
succeeded in replacing the traditional money lender?

R A F e & Feumerd W 41 §2 #3719 IRARE AgHR A S9E AT F Fher
wE

Critically discuss the performance of public sector enterprises in India. What
measures have been taken by the government to improve their performance?

HRA A Wi fareh 819 & 35TAI & fasaresr it sraraarcas @dwen ffaw 3o
foreureer & guR & fow aveR A #4139 fFe 32

Discuss critically the role of foreign capital in India's industrial development.

HRA & e e 7 fadef gait i siffe i sraraarcns R fifaw)



Q.5.

Q.6.

What are the causes of continuing deficit in India’s balance of payments?
Describe the measures adopted by the Government to solve this problem.

HRA & 3T AY H AR e F 41 FROT §?2 50 AT H1 g 41 & AT
TIHR EART YT T YT HT 0T HL

Write short notes on any two:
a1 # @ T a1 ox HigTed Ay fod:
(a) Problems of small Scale Industries in India.
HR # oY 3NN T AT
(b) Advantages of World Trade Organization (WTO) for India.
A & e fared AR Hareet (seeq & 3M) & @mT
(c) Role of Agricultural marketing in India.
TR 31 3 Y Rrrore sy
(d) Problems of agricultural labor in India.
AR A FY #13 iy gAEAC|



